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Language Conventions
Grammar & Usage MCQ

Fill in the blanks with correct form of verbs from Q1-3.

Q1. Ram .............. an apple daily.
a) Eats c) Eat
b) Is eating d) Ate
Q2. Sohan................ to Bombay yesterday.
a) Go c) Went
b) Goes d) Isgoing
Q3. Kalpanashall................ to my house tomorrow.
a) Come c) Comes
b) Came d) Is coming

Fill in the blanks with the correct prepositions from Q4-6.

Q4. Whatisthetime ............ your watch?
a) In c) Into
c) At d) By
Q5. The child is bathing ................. the river.
a) In c) To
b) On d) Into
Q6. Distribute the sweets .............. the students.
a) In c) Along
b) Among d) Between
Fill in the blanks with the correct article form Q7-8.
Q7. leat................... ice-cream daily.
a) Some c) A
C) The d) An
Q8. Rohanis................ good boy. Heis ................. monitor of our
class.
a) The, a c) Aan
b) A, the d) An,the

Choose the correct plural of the underlined word Q9-10.

Q9. Yesterday | saw a mouse.
a) Mices c) Mouse
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b) Mouses d) Mice

Q10. My ten years old sister broke her tooth while playing.
a) Tooth c) Tooths
b) Teeth d) Teeths

Change the gender of the underlined word by choosing correct
option Q11-12.

Q11. Father of a cub is lion. The motheriscalled.......................

a) Lions c) Lioness
b) Liony d) Lion
Q12. Salman Khan is a hero and Katrinaisa .................
a) Heroine c) Heroes
b) Hero d) Herone

Fill in the blanks by choosing the correct modals from the correct
options (Q13-14)

Q13. We ...t obey our parents.
a) Ought to c) Should
b) Must d) Can
Q14. My mother ................. speak English.
a) Was c) Has
b) Can d) Should

Choose the correct passive voice of the following sentences
(Q15,16).

Q15. He sang a song.
a) A song is sung by him.
b) A song is sung by him.
c) A song he sang.
d) A song was sung by him.

Q16. She writes a letter.

a) A letter was written by her.
b) A letter is written by her.
C) A letter is write by her.

d) A letter is wrote by her.
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Choose the Noun from the given sentences.
Q17. She is a beautiful girl.

a) Is c) Gir

b) A d) Beautiful
Q18. He went to Bombay.

a) Went c) He

b) To d) Bombay

Q19.

Look at the picture above and choose the correct adjective from the
sentence.

This is a large pumpkin.

a) Large

C) This

b) A

d) Pumpkin

Look at the picture given below and fill up the blank by choosing correct
adjective.

Q20. Thisisa .....ccocvvvennnnnn. pencil.
a) Short c) Small
b) Long d) Tiny
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Q21. PASSAGE BASED MCQ

Passage A

Bluebell was a pretty little butterfly. Her wings were as blue as the summer
sky. Apart from being beautiful, Bluebell had some very good qualities. She
cared about everyone she knew. She was also very loyal to her friends.
And most importantly, she spoke the truth. She loved the warm weather
and always enjoyed the sunshine.

QA. What was the name of the butterfly?

a) Summerbell c) Bluebell

b) Sunbell d) Greenbell
QB. What was the colour of her wings?

a) White c) Yellow

b) Blue d) Black
QC. What did the butterfly enjoy?

a) Sunshine c)  Summer

b) Winter d) Autumn
QD. She always speaks the ................

a) Helped c) Truth

b) Loyal d) Lie
QE. Find out the synonym of ‘Beautiful’ from the passage above.

a) Loyal c) Ugly

b) Quality d) Pretty
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PASSAGE B

The numbers from one to hundred lived in a small town called Ank Nagar.
They all were good friends and were always ready to help each other.
Infact, they even enjoyed working together. However, since the past few
days, number 100 had become very proud. He was the biggest number of
Ank Nagar and everyone respected him and called him Mr. 100. This made
him feel that he was the most powerful number of them all.

QA. What was the name of the town?

a) Ram Nagar c) Tank Nagar

b) Roop Nagar d) Ank Nagar
QB. Who lived in the small town?

a) Birds

c) Human Beings

b) Numbers from one to hundred
d) Animals

QC. Who had become very proud?
a) Number 100 c) Number 15

b) Number 10 d)  Number 50

QD. All numbers enjoyed ...............cceen.... together.
a) Dancing c)  Working
b) Sleeping d) Helping

QE. Choose the opposite of ‘Bad’ from the passage.
a) Small c) Big
b) Good d) Powerful
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Q23. (Picture — Mango)

Look at the picture and choose the correct adjective tofill in the blank given
below.

Q.23 Mangoisthe .............oeeeie. of the fruits.
a) Prince c) Queen
b) Princess d) King

Fill in the blanks by choosing the correct pronoun from the given
options (Q24-26).

Q24. Ram has finished .................... homework.
a) Her c) My
b) His d) Our
Q25. Radhika helps ................ mother in cooking food.
a) His c) Your
b) Their d) Her
Q26. Rahuland .................. friends went to see movie.
a) Your c) His
b) Our d) Their
Q27. Choose the correct spelling.
a) Difficult c) Defficult
b) Dificult d) Diffecult
Q28. Choose the correct spelling.
a) Gramar c) Grammer
b) Grammar d) Gramer
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Q29. Choose the correct spelling.

a)
b)

Enouf
Enogh

c)
d)

Anough
Enough

Choose the correct alternative for underlined phrase (Q30-31).

Q30. The baby is sleeping keep an eye on him.

a) Look after c) Totake care

b) See d) Watch
Q31. When it came to maths, Patrick was out of luck.

a) Full of luck c) Good luck

b) Unlucky d)  Luckiest
Choose the correct homonyms (Q32 to 34).
Q32. ‘Tale’

a) Tail

C) Pale

b) Stale

d) Tell
Q33. ’Hare’

a) There

C) Hear

b) Here

d) Hair
Q34. ‘Two’

a) Tow

c) To

b) Toe

d) Foe
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PASSAGE

Squeaky Squirrel had bought a new house on Banyan tree. From it, the
entire jungle was visible. To reach the house, there were stairs. He loved
his house. Polly monkey also resided on the same tree. He had a gentle
nature. Soon Squeaky became friends with him.

Q.35
QA) Who was Squeaky?
a) Bird c) Squirrel
b) Mouse d) Elephant
QB) What was visible from Banyan tree?
a) House c) Road
b) Jungle d) School
QC) Give the opposite of ‘Love’.
a) Friendship c) Envy
b) Hate d) Affection
QD) Who had a gentle nature?
a) Squirrel c) Lion
b) Tiger d) Monkey
QE) To reach the house there were .............ccccenenenee
a) Stairs c) Footpath
b) Ladders d) Road
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Q36 PASSAGE

Long ago, only birds lived in Sundervan. There wasn’t a single animal in
the forest. King Pakshiraj was the king of Sundervan. Both he and his
wife Pakshi were generous, just and kind rulers.

Q.36
QA) Who lived in Sundervan long ago?
a) Man c) Animals

b) Birds and animals d) Birds
QB) Who was the king of the forest?

a) Pakshiraj c) Lion
b) Pakshi d) Tiger
QC) They were generous, just and ................. rulers.
a) Good c) Kind
b) Cruel d) Bad
QD) Find the same word for ‘Wood’ from the passage.
a) Just c) Generous
b) Forest d) Ruler
Q37. Choose the correct Rhyming word for ‘Hard’.
a) Blue c) Yard
b) New d) Part
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Q38. Choose the correct Rhyming word for ‘Tail’.

a) Tell c) Sell
b) Bell d) Sail
Q39. Choose the correct Rhyming word for ‘Share’.
a) Shore c) Care
b) Sore d) Sheer
Choose the correct Synonym for words from Q40 to Q42.
Q40. ‘Small’
a) Short c) Big
b) Tall d) Little
Q41. ‘Reward’
a) Price c) Gift
b) Prize d) Reward
Q42. ‘Huge’
a) Big c) Very small
b) Long d) Very large
Choose the correct Antonyms for the words from Q43 to 45.
Q 43. ‘Happy’
a) Sad c) Cry
b) Smile d) Weep
Q44. ‘Easy’
a) Hard c) Difficult
b) Comfortable d) Comfort
Q45. ‘Kind’
a) Happy c) Nice
b) Cruel d) Coward

Rearrange the words to make meaningful sentences from Q46 to 48.

Q46. Is/pen/this/my
a) Pen is my this.
b) My is this pen.
c) This is my pen.
d) Is my pen this?
Q47. Toli/hockeyllike/play
a) | like to play hockey.
b) Hockey to play I like.

22
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c) Like hockey | play to.
d) To play I like hockey.
Q48. Teacher/mylis/father/a
a) Teacher my father a is
b) My father is a teacher.
c) Father is a teacher my.
d) A teacher my is father.

Rearrange the letters to make the name of vegetables from Q49 to 51.
Q49. ATPOOT

a) Tapoto c) Potato
b) Potota d) Totapo
Q50. RJBNLIA
a) Brjnial c) Ribnjal
b) Brinjal d) Bjalrin
Q51. ESPA
a) Peas c) Paes
b) Seap d) Eaps
PASSAGE

Chhaya was a small utensil made from stainless steel. She sparkled. She
had a good shape with a thin lining around. It made her look different. This
made her proud. She was used to make tea. When water, sugar, tea,
leaves, ginger, mint or masala were added, the pleasant aroma of tea filled
the house.

Q.52
QA. Chhayawas asmall utensilmade from........................
a) lron c) Goldb) Stainless Steel d) Copper
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QB.

How was the shape of the small utensil?

a) Ugly c) Good
b) Bad d) Beautiful
Chhayafelt ................. of herself.
a) Gentle c) Proud
b) Calm d) Polite
The pleasant aromaof .................. filled the house.
a) Milk c) Ginger
b) Tea d) Mint
Q.53 Read the passage and choose correct option.
Ramu was a poor boy ................. (A) ten years. Ramu and his
mother ..................... (B) in a small hutin a village. His father met
with ... (C) accident two years ago. He took tha
villagers cattle ....................... (D) graze in the woods near the
railway track. Villagers were very happy ................. (E) him.
QA. a) Off c) In
b) Of d) At
QB. a) Lived c) Lives
b) Leave d) Live
QC. a)And c) An
b) The d) A
QD. a) With c) For
b) Too d) To
QE. a) For c) To
b) With d) Too
Choose the correct meaning of the words from Q54 to 57.
Q54. ‘Delicious’
a) Yummy c) Sweet
b) Soar d) Very tasty
Q55. ‘Mum’
a) Silent c) Mother
b) Talkative d) Mummy
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Q56. ‘Outcome’

a) Outside c) Result

b) Inside d) Come
Q57. ‘Seldom’

a) Always c) Sometimes

b) Rarely d) Barely

Use first alphabet of the given pictures and make a meaningful word.
For Eg. S E E

a) Saa
c) See
b) Sie
d) Sea

25 Class VI Problem Solving



=2 @od

a) Beach
c) Reach
b) Taech
d) Teach

a) Read
c) Road
b) Roar
d) Reer
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Qualitative Reasoning

Stand alone MCQ
Choose the correct word
@ farehea iy
1. UfYeW : IS R
T:""\&:I'UT: ...........
(%) feme™ (@) e & et
(M) &< HeETR (9)  GEIT R
West : Arabian Sea
South: ... .....
(a) Himalaya (b) Bay of Bengal
(¢) Indian Ocean (d) Paific Ocean
2. qAEdd : U
TR L
(k) g (@) FHAR
(M gfew (%) e
Panchyat : Panch
Municpal corporation: ... .....
(a) Councillor (b) Commissioner
(c)  Police (d) Patwari
3. U&THH 365 A E af vy a6 ¥ fehem fa= &2
(&) 367 fea (@) 366 e
(M) 368 fA (%) 369 T
There are 365 days in a year then how many days are there in a leap year?
a) 365 Days c) 368 Days
b) 366 Days d) 369 Days
4. Yfowa adl ugTdl § i Toh-

(%) THR Y g et T
(@) AU H T & faq|
() ugEH % fag

(%) g fged = fag
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Policeman wears uniform because

a) ltis provided free from government.
b)  Scare the criminals.

C) Easily recognized.

d) Keeps him smart.

TE 9TeT T TAT HIFST

& s,

...... = |

(%) AHHH (@) et
(M) e (%) udd
Save Tree Save

a) Sky c) Water
b) Earth d) Mountain

frfarert 1 SR it T, TR, Aftat onfe & AR W adren agr s §
% W, fogr ® g & 7 | fferert et @t forw wem safam @t
SRt € & R

(F) T& T (@) "R

()  HEwe (%) e g5

Teacher told her students about Gaya, Bihar lumbini etc.
Later on she took them to Vihal, Math for a visit. She was
telling them about which great personality?

a)  Gurunanak ¢) Mohammad

b)  Mahavir d) Mahatama Buddha
TS ot Y AT ¢@ o fore st # fena fegm # Swrm =nfew ?
(%) fe=m (@) IW
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(M (&) <feqm

Piyush is gazing at stars to look out for pole star he has to
see in which direction

a) West c) East
b)  North d) South
8. W& ¥TSE T T THITAT
(®) @R (@) qwm
() YEaR (9) wWrEvEd
Write the appropriate word.
a) Stars b) Seven Stars
C) Pole Star d) Solar System

EARTH...?

MILKY WAY
UNIVERSE

9. INA wA T (Ve W AN AT &hi o fT W&t faawew T

(%) WrEH (@) <

() AR (%) =tk

Choose the correct option for the ascending form.
a) Weekly b)  Daily

c)  Monthly d) Yearly

a) 21,34

b) 2,143

c) 1,2,3,4

d 2134

10. A ¥ foISTett Uil 99T TSk shl THETE oieht fohteh e ST <Tfed ?

() WEHR (@) gfew

(1) | CIRREIRE
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11.

12,

Village is having problems regarding road, water, electricity.
Villagers should approach whom?

a) Government (c) Sabha
b)  Police (d) Panchayat

FIRSITER &t wfes W g9ni & forg fore Ferge st ot et ?

N
(%) @ T
n
T 7T )
(m ()
N
0

To make church on map which symbol is used?

)

a) (b)

N
c) T 7T (d) )

A

A
AT SRT ShiF HT TS Shiett i, T wadret onfe & fo wfag 72
() foR (@) &
() TS (%) eEm
Which state of India is famous for black pepper spices etc.
a) Bihar c) Punjab
b) Kerala d) Assam
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13.

14,

15.

16.

e @t § @1e 1 wENT T 8,

(%) WISl A & o

(@) o Wi sTg % g

()  |HR Fedt § 39

(9) YU S SRR

Farmers use manure in their fields to
(a) kill the germs.

(b)  maintain the fertility.

(c) because government advises.

(d) traditional practice.

A weE@dRT T | 14-17 o SO ST -

See the picture and answer Q. No. 14-17

=g Tor st ferdant @ feemar &2

() dSHRA (@) e "R

(m foufee (9) =IRHAR
What do you remember by looking at this picture.
(a) Taj Mahal (b) Hawa Mahal
(c) Pyramid (d) Char Minar
forer 9T W ZTeRT JE@T T Wehall &2

() emient (@) &4

(m = () 9Rd

In which country are these seen?

a) America c) Egypt

b) Russia d) India

WA o A1 fohdeh 919 Rl I8 [ET AT 52
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17.

18.

(®) TS (@) e

(m fyud (%) o=
Whose bodies were buried under these?
a) King c) Soldier
b)  Servant d) Children
TUWATT T 9Tl SR ST Rl STl & 2
(%) @ (@) =
(7))  dJr«n () "=
Buried bodies are known as?
a) Papa c) Baba
b)  Mummy d) Mama
‘W' hH T SITAT T e foRe 29T T 2
(%) U™ (@) e
(M) e foreA () 9rd
(F) (a)

(M (c)

e o

Identify the country whose flag is marked at ‘B’.
a) Pakistan c) Great Britain
b) Japan d) India
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19.

20.

FAATT WA TCUT hT SR-IT AITH &2
(%) FOrE HES (@) yfas qfed
(1) A fag (=) wifan medt

Present Indian president’'s name is -

a) Pranab Mukharjee

c) Pratibha Patil

b)  Man Mohan Singh

d)  Sonia Gandhi

TRA & ATHIATE | d1e < o [T <o 30 T &2

(F) 179 (@) 187
() 19 Td () 209
Minimum age for voting in general elections in India is?
a) 17 Years c) 19 Years
b) 18 Years d) 20 Years
® ®

(21&28) Answer the following by watching this If what
fraction of the square are there?

| ]
i T -
i i §

¢

T N )

) TRIFY Wi
PR L

N . o o

o N T et L
F_ S B

Lg
i.
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21. () (0D 22. (ii)

23, (iii) 24. (v) 9

25. (v) 26. (vi)

27. (vii) [EE 28. (viii)
STerT, ot At i | R E2

21. ()@ L k) £  (© 2 (@1
22. (i@ L (b) % (c) 1% @ >
23. (i) (a) 11_6 (b) L (c) % (d) %
2. (v)(@) =g k) 5 © 4 @ =
% W@ 1 O F © 4 @7
26. (vi)(@) g ) 5 © 5 @ &
27.  (vii) (a) 11_6 (b) % (c) % (d) %
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28.

29.

(viiy (@) 1 (b) 1 © 1

16 8 4

NI

=R foenfeEi 3 SR 9 T fosl i 1 geR & uear
1. U T - qH 9, 3 - WRR 5
2 & % - WER 38,3 - JHA 5[
3. faenei € - gehel SIg 3 - WRR &
4

fo T 8 |- & ST S - JHol S8
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i femeft 3 95 i vga wE W E?
(31) e (&) ='u
(m) fouma (7)) fam=

(2 Pictures Of Different Roots)

Four students identified the above diagram as:-
Varun— A) Tap root B) Fibrous root
Akshay— A) Fibrous root B) Tap root
Vishal- A) Adventitious root B) Fibrous root

Vinay— A) Tap root B) Tap root
Which student is correct in identifying the roots
a) Akshay c) Vishal
b)  Varun d) Vinay
30. feam an form femaant &2
(31) o FFhT () H&n
(w) dfen () =w
Which diagram is shown:-
a)  Wind mill c) Wheel

b) Fan d) Pillar
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Passage Based Qualitative Reasoning

ITTESE i UgehY U9 31 | 36 o I ST |

T Gl § i Fo T | 39 79 IRER & |l Sfaqor foen # S arett Jome! 3
TR FR3T | i Tga- TR ST IR T AIRTA o U T | STeh! HIATST + SIarT shid
1 T o1 21 hel ST & | II81 ST el 2l Tfaafird et st foh oo &ier & 2m
TS ST § | STt ST 39 9gd T9g AT |

Read the passage and answer the questions, 31 to 36 :-

Radha went to Kerala in vacations. She took the train going southwards
with her family. There she saw coconuts all around. Her mother told her
that Kerala is called the land of coconuts. There she saw people
celebrating Onam and enjoying boat race. She cherished idli dosa in
Kerala.

31. Where did Radha go during Vacations?

(@) Shimla (b) Kerala

(c) Madras (c) Kashmir

e H e e ?

(%) feren (@) &

() HA=TE (%) HYHR
32. Radhatookthe journeyin which direction?

(@) South (c) East

(b)  North (d) West

e Sy wroRe e fergr #f fem 2

(%) =i (@) IN

(M gd (%) ufe=m
33. Reaching KeralaRadha saw what ?

(@) Apple (c) Coconut

(b) Papaya (d) Orange

h{eT Uge U LT SRIT QT 2

(%) @« (@) g

(M) TREa (F) G
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34. Which festival was being celebrated in Kerala?

(@) Pongal (c) Baisakhi
(b) Bihu (d) Onam
ST H oI AT G AT 1T Tt o7 ?
(%) HiTA (@) g
() (&) P
35, SRl E Ul AT aht STt fepa T o ?
(%) dr-faare (@) <8
(M TEde (%) Ferrerd
Which competition was being organized during Onam in
Kerala?
(@) Debate (c) BoatRace
(b) Race (d) Drawing
36, VTS OEl U ST T ?
(F/) W (@) Qhel
() zSedl-Sr ISR
What did Radha eat in Kerala?
(@) Bhatura (c) Idli Dosa
(b) Dhokala (d) Daliya

ITTIE ohl UgehY I ST, (U, 37-42):-

Tehst SR AT 79 wferdi | forgeet T8 =1 el | 98 T STl YIS ot A9 off
gftera T 7T W@ off | 21 auf & FRO A - 9| U Ffvaa gog W A sro
afeai T & HferT 3ol HeTeeR o ot a1 <11 € | 981 S+ HelHI ThH! a1 IS
% J W | 3T TSI ] TSI 8 @ ¢ foh 31 of STSHM qe FeieR gom o feeeft
BIgH |

Read the passage and answer the questions, (37-42):-

Pankaj and Geeta got separated from their colleagues and landed in a
thick forest where even sun rays were not reaching, but due to heavy
rainfall in that area the forest was evergreen. The trees in these type of

38 Class VI Problem Solving



forests shed their leaves in a fixed period of time that is why they are
evergreen. There they both saw Mahogony, Ebony, Rosewood trees.
Wandering in the forest they were repenting upon why they chose
Andaman & Nicobar Islands for excursion leaving Delhi.

37.

38.

39.

40.

Hehe 3 Tiar et gHa T 9 ?

(%) e (@) &

() =g (9) f=uF 3R fpear
Pankaj and Geeta went to which state?

(@) Bengal (c) Lakshadweep

(b)  Punjab (d) Andaman & Nicobar
wrfer | foge o 9 e uga T?

Where did they reach after they got separated from their
friends?

(@) Mars (c) Market

(b) Sea (d)  Jungle (Forest)
(%) #Hm (@) 99
()  9NR () ST
T hAT AT ?

(F) B (@) =il

(1)  <&eA (%) B

How was the forest?

(@) Evergreen (c) Muddy

(b) Broad (d) Short

Toal A I i W G TG ?

(%) 4« (@) el

() = (%) W

Which tree did they saw in the forest?

(@) Apple (c) Neem

(b) Banana (d) Ebony

39 Class VI Problem Solving



41, TH I o hl ST el ST &2

(F) (@) dien
(M M (%) HSEER
Such dense and thick forests are called by which name?
(@) Green (c) Wet
(b)  Yellow (d) Evergreen
42, Yehs 3iT AT el | T 9 ?
(F) SWAH (@) e
(M) g (%) ofeur fhem
Where did Pankaj and Geeta go from ?
(@) Uttar Pradesh (c) Mumbai
(b)  Delhi (d) Andaman & Nicobar Islands

TTEE i UgehY 3TT SIT, U, H, (43-48):-

Tl Tk SHRR SiTferent off | ThaR o7 fogamerd # ST+t sal & T&iehierd i 3R
T R | T H 3 Uk 9 ool 399 9 79 S9! GHHEEi i § o | gemEm 3 ad
Gt 3@ @ SEH 500 ® el aifers 99 & miferess 1 9 gar T8 an) adft I
AT ST T 32 e foh 58 370 9= %1 <A < ST I 371 7 Tohet § R
T | FEHETET A 98 UE S faa qn Tidn <kl Ser <t 9o e foh 3 T © T St
SAMER TS eh! fagaea H ¥ |

Read the passage and write down the answers of the questions, 43-
48:-

Geeta was an honest girl. One day she was going to the library. She
found a purse lying there.She took the purse and gave it to the
principal.Principal opened the purse and saw Rs 500 inside the purse. She
closed the purse as identity of the purse owner was known to her.
Suddenly a parent arrived & told her that he had dropped his purse
somewhere in the school premises when he came to give medicine to his
daughter. Principal gave the purse to him & called Geeta & praised her for
her honesty.
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43,

44,

45,

46.

47.

AT ShElt TSt ot ?

(%) =R (@) SAFER
(M) it CIEINIED
Geeta was what kind of girl?

(@) Thief (c) Simple
(b)  Honest (d) Clever
T oht o Taer ?

(%) W (@) wd

(M w9 (%) Tt
What did she find?

(a) Paise (c) Rupee
(b) Purse (d) Copy

ud feRgaRT or?

(F) o=l &l (@) sTEATent 1
() Afqwrer ()  gYAmEmE
Whose purse was that?

(@) Children (c) Parent
(b) Teacher (d) Principal
AT Shell | Fehetent el =T W& ot ?

(F) Y&IHE (@) ©d
(1) gEFTRIET (7)) =
Where was Geeta going from the class?
(@) Library (c) Laboratary
(b)  Sports room (d) Home
Wt st fohd ST ox e gaur?

(F) THITHDY (@) s qd 9
()  F=d TATRR & () TS|
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Why was principal proud of children?
(a) Children were good.

(b)  Children were stupid.

(c)  Children were honest.

(d) They were dishonest.

48, TH IS W T WirE fHerdt 37
(%) TH o™ T L A
(@) TH IR ! AT
(1) TH T HET =AMeT
(9) H S deT =feu |

What moral do we get from this incident?

(@) We should not be greedy.

(b) We should steal

(c) We should be gready

(d) We should tell lies.
Frrfefaa sTese ol ufeu ar feu e uy=i & e difag ?
FHHSIR T 9TC 3 Urel Hre T 78 81 Fohd 3R I 4fH W thal 9I1d €, S fored! ofal shd
T | STaIfeh H WY STE - o1 g3l & =R TR felueeh IR =g d €, T8 U9 TRIE
FEAN §, A ST e o U Ik ST IR gl | = 3 ¥ 1 ves B Wid 2 ¥, feeen
T & BT ¥ | ST T T KR B §, 3T TR B & eferd & < € 1 gt ogd S = 2
g, IR T Ye T TR P T |

i dk il

Read the following passage and answer the questions that follow.
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Some plants with weak stems cannot stand upright and they spread over
the earth. These plants are called creepers. While some plants with weak
stems coil around some support and go upright, such plants are called
climbers. Both these plants are different from herbs, shrubs, trees. Herbs
are short plants with soft and green stem. A shrub has dark brown, hard
stem which starts branching from the base. Trees are very high and have
very thick, strong and brown stem.

49,

50.

51.

52,

et T ot Uek 3TEUT & ?

(31) SR &I a9 (9) e

(W) =™ (T) Tkt & 9
Give one example of creepers.

(@) Grape wine (c) Grass

(b)  Money plant (d) Gourd
Fretfefaa 9 & v1res =t Bifen

(31) qot (9) THRX

(&) +mH () R
Pick out herb from the following:-

(@) Tulsi (c) Neem

(b) Tomato (d) Peepal
TFrefataa W 9 ge7 ol Sifeu|

(1) oW (9) Iqead

(7)) = (3) o=

Pick out a tree from the following:-

(@) Brinjal (b) Cassia (Amaltas)
(c) Marigold (d) Rose

ST U o g §, ...

(31) WY B IR

()  9fF W P 9
(|) TSR 1 Ygg SR el U B T
(2) < fore TeR ¥ S =g d & |

Climbers are the plants which:-
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(a) Stand upright

(b)  Spread out on earth.

(c) Have strong and brown stem.

(d)  Climb up with the help of some support.

- fea o ot &t T@HT U, H. 53-56 & IO ST -

See the picture and answer Q No. 53-56 :-
53, UW ek Sitd okl AT STl St Ut U¥ T&ar g

(3n) fexw (F) e,
(9) et (3) i
Name one animal that lives on trees?
(a) Deer (c) Bird

(b) Bear (d) Tiger

2
f=

54, UV Ueh Sitd okl ATH SATSU St ol § SSaT ¥, UF AT O¥ Ul 0¥ ST 1
(31) = () I

(|) fem (%) HYHRel
Q54. :\lame one animal that flies in the air but makes its home on
rees.
(a) Tiger (c) Deer
(b) Lion (d) Honeybees
55, UH S ol AW S8, S STH < 5= (3{e9) T&aT §)
(a1) feem (4)
(w) =& (3)
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Name one animal that lives underground.

(@) Deer (c) Ants
(b) Lion (d) Monkey
56. UH g T AW SATST, ST UST W B SHTeRT TUAT 9T ST § |
(31) wYHeReEl (a) st
(7)) =i (T) HISHESA
Name one bird that lives in the hole of the stem.
(@) Honeybee (c) Ants
(b)  Monkey (d) Woodpecker

Fretfoiaa =T &t ufew agr fau uv=i & SoX ST (U9 57 - 60)
& T STA § TI TR B TR AT o1, A TR T FHIN I T FEci
T off | S oft g Ao H F fedm & 9N H g, S9! 1 Fed! - 92 I8
ol qrert fast ©, Se seft g0 191 T ot el 98 IR a9 &t Jea™ &
T Heg UM, F(fh I8 Teh TrAh (G2 Yaeh §, THh! T3 fomrereen § ghen
IT-cferor feem <wiidt ¥ 1 3Heh! G & < TR B T

Read the following passage and answer the questions that follows
Whenever Ram went to the jungle for grazing his goats, his mother always
gave him a toy. Whenever he asked his mother about the toy, his mother
said to him, this toy is your friend. Whenever you forget your way it will help
you to identify the direction because it is a magnetic compass. Its needle

always indicates the North-South direction whenever it comes to rest. It
has two ends of the needle

57. fermmmaten ® g feen-gosw si-4t fawm gorr &2

(1) - () IW-gfegm
() Sw-ufem (2) gd-ufeem
Which direction is indicated by magnetic compass when it
comes torest.
(@) North-East (c) North-West
(b)  North-South (d) East-West
| # |
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58, fevm-geren(wmme) ¥ 3 & foram ot @ ¥2

(3 T (/) @

(®) M (7 =W

The number of ends in compass needle is:-
(@) One (c) Three

(b) Two (d) Four

Frefeiaa w=rT = ufew aer fTu woei & 3w i)
T = Uil TR T hi ST o G oh1 3189 hid & Teh YA fomdl, ST 9AMT &
fore TToet 8 e <1 T @ W s WY ferg

Read the following experiment and answer the question that follow.
Rita conducted an experiment to study the effect of water availability of
plants. She chose two potted plants of the same type for the experiment.

e =
X y
Iy &)

@ @ |
(A) ® |

b - Pl B s ELEIE L |
far 1 weesh

59,  3TUat A 3T B ® @ 9 @ i st Rafy w@ foes adf &7
(1) drEmA (a) U B
() e (A) SR dien (B) (8)  wiE TR
Which plant looks better to you A & B?

(@) PlantA (c) Plant A & B both.

(b) PlantB (d)  None of these.
60.  TIEr (I) o HISATT W ST SHIUT FATST ?

(1) UHI I wHH H (9) ERIYTH

(|) T ! 3tfeehal | (®) T >E T

Give the reason for wilting of plant B.
(@)  Due to deficiency of water.

(b)  Due to excessive sunlight.

(c) Due to excessive air.

(d)  None of these.
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Stand Alone MCQ
Quantitative Reasoning

HTTeHeh deh

Q-1

Q1.

Q-2

Teh Hig W 9 & TUTS foT@ T § | OX Ueh High UX UeX 9 W& fora T et
T | SR T YT ohl o8 WA ST el &l ?
A ladder has multiples of 9 written on it. But the painter forgot

to write the number on one step. Can you help him to find that
number?

45

27

(@) 36 (b) 54
(c) 63 (d) 81
T GeRTT U TIOTA ot Ik o 13 | S gehTaR o J&ieh ol 9o Ut |

RGN = 3 el foh 2 ° &t 3 ° | T[0T Thleh Sl HEAT 31T, 37 U 3 o |
AT AT e wu 2t ?

Seema went to purchase maths book. She asked the price of
book. Shopkeeper said to pay the amount which she gets after
multiplying 2° and 3°. Find the amount she paid?

(a) 116 (b) 200 @
(c) 316 (d) 216
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Q-3

Q-6

AT ST G © 13 UFaeT @S R AT | 39 370 1 BT WIgal Ao
3T G SRl IRTER-SRTER YT Seht 31U UTH 374 Ueh Urael S9TeT 1@ o |
AT SHeh UTH 37l feharit Ui &2

Lalita purchased 13 pencils from the shop. She distributed
equally to her two younger brothers Anil and Sunil and herself
kept one pencil more than them. Tell how many pencils she has
now?

(@) 4 (b) 5

(c) 6 d) 7

THA o Teall ohl (WS-8 Hiet ® gian firett | Tfga 3 28 aiRat (212), Tger A
e 7 aR=(3Y%) , I 3 et (V2) T @it | <= = freteRt fepatt gt
@t ?

Today school children got Pooris in mid day meal. Rohit ate 2V

pooris, Rahul ate 3% pooris, Pooja ate 2 poori. How many
pooris did they ate in total?

(@ 6 (b) 6%

(c) 10 d) 9

T SRt Wk THERTUT ST 9T | 3 Weh hI0T 35° ST AT | ST Uk
0T TR 3797 ShT ST 2

Anita had to make a right angle. She made one angle of 35°. Can you
tell the complementary angle?

(a) 65° (b) 55°

(c) 40° (d)y 75°

T h TUaTSit 3 et Srei AT ohTH IT% foRaT | S8 560 T o 9 3T 600%
& hel @IQ | TR WS 700 FUA & o T | T o h10T (B hel WIS o
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T, 2 480 FUZ B SIS UST | TATSHT 3% a1 gAT AT 2
(a) <y (b) ==
(c) @y, A= (d) i

Raghu’s father was a fruit seller. He bought apples for Rs 560/-
and sold them for Rs 700/- and bought bananas for Rs 600/-
some bananas were rotten so he had to sell them for Rs 480/-.
Canyou tell his father has a profit or loss?

(@) Profit (b) Loss
(c) Neitherprofitnorloss (d) Don’tknow
Q-7-14

3TN Wi & foermerd § 15 ST | 1 | |1 ol 37 Siea! $hal UgaT o |
AT 9% 6:15 am (Jafe) W R | = TSI 3R 39 Ug= ¥ 25 e & | 39!
STEAYHT 3 IHeh! Hl & el ! That i BIE-BIS Hel ¥ TS 1 e e | 3Tt
FeT H R/t 45 953 I | T I 15 TS A & | WHETH 5 oo 3T7afeerd W | gqfey
RS TRl T T | FITel HeE o geal | QeIHiR] o Ta &g fohan, fad 28 sr=di 1
T forn | 59 R 7-7 F=a i dfokdl 991 TS | Thdt o He[ ¥ fe@ms T fesrgEr
HHRIE o1 e 1 TS | A1 -1 3119 571 Hohdl © 1oh....

15th August was celebrated in Meena'’s school today. So Meena had
to reach early in school. So she left for school at 6:15 a.m. and it took 25
minutes to reach the school. Her teacher assigned the work of decorating
the school with flags, to her class. There were 45 children in the class.
Everyone has to put 15 flags. But 5 students were absent so all flags could
not be put. Students of class 7th presented a patriotic song in which 28
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students took part. On stage, rows were made containing 7 students each.
Arrangement in school ground was done as shown in following figure. Can
you answer following questions now?

Q-7 T wHA foham ot Ugeit ?

(a) 7:7Tm (b) 6:55TTEA.
(c) e6:40TTA. (d) 6:25TTA.
When did Meena reach school?
(@) 7:00 a.m. (b) 6:55a.m.
(c) 6:40a.m. (d) 6:25a.m.
Q-8 I Sl el GRT /A feha A 3 T T & ?

(@) 645 (b) 675
(c) 605 (d) 600.
How many flags in total were to be put by Meena’s class?
(a) 645 (b) 675
(c) 605 (d) 600

260 m

Stage Guest
9 Ffafa
S £
1 g
Children Children
= =
260 m
Q-9 U Seal oh FTURLT &l | o THIXUT feha™ S o1 U ?

(a) 600 (b) 575
(c) 550 (d) 525
Due to absence of 5 students how many flags were put?
(a) 600 (b) 575
(c) 550 (d) 525
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Q.10

Q.11

Q.12

Q.13

Q.14

g1 wfer T T ST WO et Teher=it dferral st ?

(@) 7 (b) 4

() 3 (d) 5

How many rows were formed during patriotic song?
(@) 7 (b) 4

(c) 3 d 5

THA o HE o feha el ® sreail o foem o1 yarer fepam T ?
(@ 14 (b) 2/4

(c) 2/5 (d) 2

How much part of school ground was used for sitting of
children?

(@) 1/4 (b) 2/4

(c) 2/5 (d) 2

e o T feed ® R s @ ?

(@ 1/4 (b) 2/4

(c) 3/4 (d) 4/4

In how much part of ground stage was made?

(a) 1/4 (b) 2/4

(c) 3/4 (d) 4/4

THE o WG T &I5theT 9T &N 2

(@) 6760 m’ (b) 5200 m®

(c) 67600 m’ (d) 67500 m’

Calculate area of school ground.

(@) 6760 m’ (b) 5200 m’®

(c) 67600 m’ (d) 67500 m’

Tohet oAl HaTe feRd 3TTapfa ot &2

(@) STAAHR (b)  =FHR

(c) TR (d) R

Tell the shape of school gound.

(@)

Rectangle

(b)

Square
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(c) Circular (d)  Triangular

Q.15 ¥ Uk UHt G&AT § ST 500 & T W 333 FH | H i §2

(a) 667 (b) 567
(c) 557 (dy 777
lam a number whichis 333 less than double of 500. Who am 1?
(a) 667 (b) 567
(c) 557 s (dy 777
2

Q.16 BT HEH S W WY 9TE ol ST & HHE A 9T | 3201 24 79 ©ud fed

A g FrAfeae <ist & ol et
(@) 23% HTHR
(b) 12%.=HIdS

(c) 20-20% &3 fae Yahe
(d) 15%. FISH A Tehe | THA H foha T0& T fhy ?

My mother sent me and my brother to market to buy some
groceries. She gave us some money to get following things:

(a) CheeseforRs23.

(b) BreadforRs12.

(c) Two packets of chips each of Rs 20.
(d) Packofjuice forRs 15.
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How much money we spent in total?
(A) Rs 90
(B) Rs 50
(C) Rs60
(D) Rs 70
Q.17
T SRt & T el sk are qen Ueh ol foe et faemeRt 10 o1ue €1 et
R H AT SR W Teh STUST ST T 3T § 1 AT Ikl H 4 Sl § SIS FHH R |
1 T AT ST Hehl & foh Teieh ekt B feha-fehee ST08 I gU R |
(@ 352 (b) 523
(c) 532 (d) 325

Q.17

There are three baskets, a blue one, a red one, a green one, holding
a total of 10 eggs. The blue basket has one more egg in it than the red
basket. The red basket has 3 eggs less than the green basket. How many
eggs are there in each basket?

sve [

(@) 3,52 (b) 5,23
(c) 5,3,2 (d)y 3,2,5

Q.18 39 3 § /e fehar BroqsT &2
(@) 7 (b) 15
(c) 10 d) 17
How many triangles are shown in this figure?
(@) 7 (b) 15
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(c) 10 (d)y 17

Q.19 T W 3TN 3MTehl Biet T Wil =it W& 0 §7?
@ () () (d)

Find the odd-one out in which number of sides is zero.

A O

(@) (b) (c)
i:: (e)
(d)

(@) d (b) e

() ¢ d b

Q.20 e T | Suge €& WK |

(@ 90 (b) 72

(c) 56 (d) 66

Find and fill the missing number to complete the grid.

(@) 90 (b) 72

(c) 56 d) 66

12 156 144

8 64

7 56 49
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Q.21

ANEIVA"
A+ O
(@) 27,18 (b) 11,15
(c) 18,27 (d) 29,21
O A=
Q.22 A 3R B 1 HH JE R
Find the value of A and B?
(@) A=9,B=2 (b) A=3,B=8
(c) A=6, B=4 (d) A=-8,B=-3
Q.23 3 3kl T TINT T U= &l |
7 8 2
(A) < FE e | (i) 594
(B) BT G&A TS| (ii) 872

(C) =S RBATENF i@ (i) 272
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Q-24

Q25.

W.26

Q.26

Use the digit and match the following.

(A) Build the biggest number. (i) 594
(B) Build the smallest number. (i) 872
(C) Difference between biggest and smallest number. (iii) 278

@ A-()B — (iii) C — (ii)
(b)  A- (i) B (ii) C - (i)
€) A— (i) B - (iii) C - (i)
(d) A- (i) B = (i) C — (iii)

17 21 26
20 24 ?
(@) 28 (b) 18
() 29 (d) 30
& Z 2
v/ 7/
(@ 1 (b) 3
2 4
1 d 2
(c) T (d) :
fenehe de ot TS AU 9 Whet U 4TS 3Heh Tk IR o1 UTgdiah 6.0 4,

T, T GER T UGS 66, 1 HHI &, AT I hi GiaTg Tohat g |

(31) 60.1 9.1 (d)  6.019.H

(F) 126.19.H ()  12.619.H

While measuring the length of a cricket bat if reading on one

end is 6.0 cm and the reading at other end is 66.1 cm, what will
be the length of the bat?

(@) 60.1cm (b) 6.01cm
(c) 126.1cm (d) 12.61cm
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Complete the following numbers series:-

7.27 T dEn &t it st Ou it |
510,15, ..o, 25, 30
@@ 5 (b) 20
(c) 15 d) 18
Q.28 5,11,23, .............
(a) 46 (b) 40
(c) 47 d) 50
Q.29 1,4,9,...,25,36
(a) 13 (b) 12
(c) 14 d) 16
Q.30 1,9,25,......... 81
(a) 49 (b) 34
(c) 64 d) 36
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AT Toh (T W 3MRA)
QUANTITATIVE REASONING (Passage Based)

=T TT=9¢ ol Ul AT U, |, 31 ¥ 36 ek 3TN ST ?
BH TAl & 379 S il § Sidi o al 998 old o- TR |g a9 STl 995 |
STETEH TG o8 B ¢ TSI oredl i 2 V2 AIE 9 3 TS o 30 9 31d Fehet Y& 81 9 ©
3T 2 o8 o 3T e TR Q1d (el 3T € | STRIG1 1 g8 o Sid ol had © | STErh g
HHA20TABAE |

I & S1d (f=ish ) 3TRTR 6 | 12 A& o, fgel T =amieh 13 | 19 7&H T 3R
TG ST 19 HEH 1 34 ek e S € |

6 T hi 3T Teh STEATHT Sid T STl oh1 S8 o1 I[® L <d © | TRl 9 |
FH 32 TA B & SR AF oS | 16 |

Read the following passage and answer Q. 31 to 36.

We humans have two different sets of teeth in our life time — the temporary
set and the permanent set.The temporary set is the one that starts
appearing at the age of about two and a half to threemonths and completes
in about two years. These teeth are also called milk teeth.Front teeth
usually erupt when a child is from 6 to 12 months of age, second molars
between 13 and 19 months old and canines usually erupt at 19 months or
older.Around the age of six the milk teeth starts giving way to the
developing permanent teeth. There are 32 permanent teeth and 16 in each
jaw.

Q.31 R ----- fafir= gfal & g e €

(31) 4 (0 2
() 16 R 22
We have .........ocuvs different sets of teeth.
(@) 4 (b) 2
(c) 16 (d) 32
Q.32 3T U H Gid —--—%h W | ket I[& & 91d |
(1) 14E (9) 8HE
(W) 2% 931" () 2% [ 3 a8
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Teeth of temporary set start appearing at the age of ...........
(@) 1 Month (b) 8 Months
(c) 2% to3Months (d) 27to 3 Years

Q.33 ek SRATH g | /el feha gt Bl &2

(1) 20 (1) 10
(|) 02 () 32

How many teeth make a temporary set?

(@) 20 (b) 10
(c) 02 (d) 32
Q.34 TR UAeh oS W feha Tt Sfd gid &7
(1) 20 (&) 10
(") 32 (7) 16

How many teeth do we have in our each jaw in a permanent
set?

(@) 20 (b) 10
(c) 32 d) 16
Q.35 TN feRer=l 30 | G & Sid ohl SITE AT G 3T I[& & 9 &7
(31) 2 99 dq* (9) 69 dh
(®) 1099 ah (T) 6HBTH

Q.36

Around which age do milk teeth start giving way to the
permanent teeth?

(@) 2Years (b) 06 Years
(c) 10Years (d) 6 Months
QT gl . ————- ot hEd £ 2

(31) Ut & i (9) @M A
() guH3a () dAH T
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Temporary teeth are also known as .................
(a) Water Teeth (b) Food Teeth
(c) Milk Teeth (d) Qil Teeth

e el
T ST, Tiq0,
Pramalars

Malars

Frfefaa oTTese sl ufeu 31X U9 37 ¥ 42 e ST SiT: -

IR H A1 ST Bl § AR AT G- TR 9T, S, e, SW uew
FERTSE TR ToRTd | feerd § | S Sohredl § ¥ AR 40% el H § | 3Heh 918 27%
BRATOM 1R 10% T § | Fiifen TR 3R T[UreT aTet! S o 5] Scaa oigd A
T | AT IR e : e aen =siieie 9 39 T R R war g |

Read the following passage and answer Q.37 to 42.

The woolen industry in India is small and is basically located in the
states of Punjab, Haryana, Rajasthan, U.P., Maharashtra and Gujarat. The
majority of the woolen units (40%) are in Punjab, followed by Haryana
(27%) and Rajasthan (10%). The rest of the states accounts for the
remaining 23% of the units. Since domestic production of fine quality wool
is quite low, India depends on imports mainly from Australia and New
Zealand.

.37 WA U 39 ST hi Sh1gAT fehas el 8 72
(31) o4 (&) 06
() 02 (k) o1
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In how many states of India are woolen units located?
(@) 04 (b) 06
(c) 02 (d) 01

.38 oHet 23 S Rl ST ahie A T ohid &7

(31) U 3R s

(9) IW U™

(W) HERsZ iR TSR

(%) ‘&' ‘W A

Which states together produce 23% of the total wool?
(@) Punjab & Haryana

(b) U.P.

(c) Maharashtra & Gujarat

(d) Both b’ &‘c

.39 fora ToT ST ST Rl SeRTEal Wl Stferen §7

(31) oA () W IR
(9) °ste (%) @Ramm
Which state has majority of woolen industry units?
(@) Rajasthan (b) U.P.
(c) Punjab (d) Haryana
U040 TR 3T gRamom # faement feras % it ST gehrgat &2
(1) 37% (I) 27%
(") 50 % (D) 67 %

U.41

What % of total industrial units (woolen) are located in
Rajasthan & Haryana both?

(@) 37% (b) 27%
(c) 50% d) 67%

R HEFa: T a1 <9it | I T 3TTaTd SRt 87
(31) sefern 9 seie (%) sreefern 9 s/t
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.42

(9) Toie 9 =Ehere (37) oiefem o =il

From which two countries does India mainly import wool?
(a) Australia & England

(b) Australia & America

(c) England & New Zealand

(d) Australia & New Zealand

Tfe WA B T/et 10000 Sl ST FRIFAT & Al TS H et fehat gehtgar
77

(1) 1000 (&) 100

(™) 10 () 10000
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o T =T WY ufen e faw T weHl & Se ST ? (43-46)

faeTeg ® A Set IR B €, S = § Headl 3 €, SHHT IR ok STei-hehrd Rl
TH1 BT &, I8 oI Thehlo Tafy= Tferdi gr1 oan €, fSreeh shreor 1fq Terd 81 urdl € | arey
YT WIS 98 ot I T €1 31Tt W gt iR fusel W e 9 vaet B &, o= |
faferse v St &, Wt A wem H Ferdn Sl €, 9 987w uei 3e1 & gy
3T GE h A ¥ |

Antennae

Cockroach

Read the following passage and answer the questions the follow:- (Q43 —
46)

Cockroach has three pairs of legs that helps them in walking. Its body is
covered with hard exoskeleton. This skeletal system is made upO of
different types of joints which helps in movement. Two pairs of wings are
also joined to the chest. Fore limbs are narrow while hind limbs are broad
and thin. It has special muscles. Muscles of legs help in walking while
muscles of chest help to giving speed to its legs while flying.

q. 43 faerag § forat St W& €2

(1) s () 3
(") 8 SiEd () 4t
How many pairs of legs do cockroach have?
(@) 5 pairs (b) 3 pairs
(c) 8 pairs (d) 4 pairs
W. 44 foereg & 9 @ ot gt v 52 @ ¥2
(1) 2% () 4
(W) 3wt (T) 1 =E
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How many pair of wings are joined to the chest?

(@) 2 pairs (b) 4 pairs
(c) 3 pairs (d) 1 pair
¥. 45 faorerg ¥ @ 9 et uE dend @ §?
(1) oTTet St W (a) et Set W)
() AF I A (3) THIHE T
Which pair of legs are narrow in cockroach?
(@) Fore limbs (b) Hind limbs
(c) a & b both (d)  None of these
. 46 feeg damaiE aad?
(1) f=a®R ()  FER
(@) SAFITHE (3) T IHE T
Which pair of legs are broad in cockroach?
(@) Hind limbs (b) Fore limbs
(c) a & b both (d)  None of these

feu T e =k 1 dfen, qen fou & yve & W ST ? (47-50)

Teh TESIeT e YA o TR H el 9 SR % el T § | el &1 Ui ugfeat
Breit &, FSTTenT =318 106 & . T 3R YR 10 fhauma B e ?

QNo.47-50

Read the following passage and answer the questions that follow.
A parasitic plant. Rafflesia, bears the world’s largest flower. The flower has

five petals and may have a diameter of up to 106 cm, and weight up to 10
Kg.

T. 47 IGATITET & WA ohi Ueh UGET ohl W TRaTITH ® SIefreit ?
(1) sfraum  (9) 1 fRanm
(®) 2fpemm (%) 50 fereum™
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What is the weight of one petal of Rafflesia?
(@) 5Kg (b) 1Kg
(c) 2Kg (d) 50Kg
T. 48 YGRATITET & W ohi ForeaT sargd ?
(31) 106 H.4. (F)  10.6 H.H.
(¥) 53 AL (2129

What is the radius of Rafflesia flower?

(@) 106 cm (b) 10.6 cm
(c) 53 cm (d) 212cm
T. 49 IORATITET & et Rl STE Teher=T &t &2
(1) 10.6 H.H. () 106 G4
(&) 212§ (¥) 53
What is the diameter of Rafflesia flower?
(@) 10.6 cm (b) 106 cm
(c) 212cm (d) 53 cm
T. 50 IORATITET & Wt | fehat ugfear et €2
(1) 8 (&) 6
(" s (®W 3
How many petals are there in a Rafflesia flower?
(@) 8 (b) 6
() 5 d) 3
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3TTEIE okl UgehT ST ST ?

fooett &t Hal SEEA a9 1.38 S § | FEH gEH H GE&A 76.07 @ Al
Tfetsii T 62.436T@ T | AT 1000 T&H § i 821 ¥ | U@ 996 9340 fR
ufd =t fof. . § 1 =1 WaRdi < 81.97 % B | ¥% H&d ® ¥ fet, 3¢ Ul wa STt
Siiet St § | feett &1 S.T.D %I 011 ¥ | URed i 1100 qef ared i€ (DL & oxx)

Tl

Read the passage and answer the questions. (Q51 - 56)

Total population of Delhi is approximately 1.38 crores. Male population is
76.07 lakhs whereas female population is 62.43 lakhs. Ratio of male and
female population is 1000 male : 821 female. Population density is 9340
persons per square Km. Literacy rate is 81.97%. Languages spoken in
Delhi are Hindi, Urdu, Punjabi & English. STD code of Delhi is 011. Postal
codeis 1100 and vehicle code is DL-0XX.

7. 51 feoett &t e SEE fohat &2

(%) 1.38 Fg (@) 1.39FTs
(M 137 &S (F) .40 S
What is the total population of Delhi?
(@) 1.38 Crore (b) 1.39 Crore
(c) 1.37 Crore (d) 1.40 Crore
.52 &SI ol el SITHEAT HigeTr3tt | fehert a1feres &2
(k) 13.63 A (@) 13.64 M@
(m 13.65 <@ (=) 12.60 <&

Total male population is more than female population. Find out how
much is it greater?

(a) 13.63 Lakh (b) 13.64 Lakh
(c) 13.65 Lakh (d) 12.60 Lakh
U. 53 TieeT ol S & W Y&l ol aF ¥ fohat & €72

(%) 178 (@) 179

M 177 () 176
Difference between male & female ratio is?
(@) 178 (b) 179

(c) 177 (d) 176
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v. 54 fooett ot e g fepa &2
(&) 9440 =Afa gfqert .1
(@) 9340 =Afer gfent .1
(1) 9430 =AfR Ffaar foh. =
(F) 9433 =Afaq gfqent 6.9

Density of population in Delhi is?
(@) 9440 People per square Km.
(b) 9340 People per square Km.
(c) 9430 People per square Km.
(d) 9433 People per square Km.

Y. 55 @rarar o faeel ot femamm 372

(F) 829% (@) 8197 %

(M 81.78 % () 81.96%

Literacy rate of Delhi is?

(@) 829% (b) 81.97%

(c) 81.78% (d) 81.96 %
Y. 56 facoht &1 STD HIg R ATE?

(k) 01 (@) om

(M) 0111 (7))  0xx

STD code of Delhi is?
(a) 01 (b) 011
(c) 0111 (d) 0XX

e T M UG IR T | 57-60 & ST EIwT: -

1984 T AT T 3TMYST i T2 3TN STuerss § ¥ Ted Wk T Wash
TS ot | 39 719 g & SrRor 2000 ¥ 2Afees SR AR T T8 15,000 ¥ 600,000 &
o ST U I 3TH ¥ TSR 15,000 T WX T | 5 A6 TFMAR ST & ST AR
a1e H = gu At 1 fafr=r I & ufad arn e 3w e e ygu 6 gaE
forel) 1 forelt &9 § o7t ot B
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Read the following passage and answer the questions that follow.
(Q57-60)

The Bhopal gas disaster of 1984 is considered one of the worst cases of
industrial disasters. Leaked industrial vapours killed more than 2000
people outright and injured anywhere from 1,50,000 to 6,00,000 others, at
least 15,000 of whom later died. A series of studies made five years later
showed that many of the survivors were still suffering from ailments. Till
today, the contamination is presentin some form or the other.

s s =

Industrial Pollution

Y. 57 TUTet 79 i€ i & T H g1 9T
(F) 1984 (@) 1980
(M) 1982 (}) 1985

When did the Bhopal gas disaster take place?
(a) 1984 (b) 1980
(c) 1982 (d) 1985

W. 58 R T AN ht WEAT feha=t off ?
(®) 150000 & Atk (@) 2000 ¥ At
(1) 15000 9 3ferH () 6000 § Al

How many people were killed?
(@)  More than 1,50,000.

(b)  More than 2000.

(c) More than 15,000.

(d)  More than 6000.
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¥. 59 Mg ¥ feras safem AR T ?

(&) 15000 (@) 20000
(1) 1500 (F) 600
How many persons died later?

(a) 15,000 (b) 20,000
(c) 1,500 (d) 600

Y. 60 5 T TR HEATAT oh S1G ST T gl ?
(@) 2000 AR AR T
(@) == gu Al o1 fafa= I & afad gm=n @)
() 150,000 ¥ 600,000 SAfer AR T |
(%) T A wE T

What did the series of studies later showed?

(@) 2000 People were killed.

(b)  Many of the survivors were still suffering from ailment.
(c) 1,50,000 to 6,00,000 people were killed.

(d)  None of the above.
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WTHTE TR (a1 T)

ST Gehd

1.@ 2. % 3.7
4. % 5.7 6. %
7.7 8. & 9.7
10. § 11. & 12.@
13. 7 14. 71 15. %
16. T 17. % 18. @
19. 7 20. 9 21. %
22. @ 23. 7] 24. 9
25. % 26. 7 27. 9@
28. T 29. @ 30. %
31,70 32. @ 33.9
34. T 35. % 36. @
37.70 38. % 39. %
40. @ 41. 9 42.@
43. % 44. 9 45. @
46. 47. % 48. @
49. 50. ¥ 51. 9@
52. 9 53. % 54. @
55. % 56. @ 57. 9
58. @ 59. H 60. T
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ANSWER KEYS

LANGUAGE CONVENTIONS

Q1.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.
Q8.
QO.

Q10.
Q1M11.
Q12.
Q13.
Q14.
Q15.
Q16.
Q17.
Q18.
Q19.
Q20.
Q21.
Q22.
Q23.
Q24.
Q25.
Q26.

(@)
(c)
(b)
(d)
(@)
(b)
(d)
(b)
(d)
(b)
(c)
(a)
(c)
(b)
(d)
(b)
(c)
(d)
(@)
(b)
(A)c
(A)c
(d)
(b)
(d)
(c)

Eats
Went
Will

By

In
Among
An

The
Mice
Feet
Lioness
Heroine
Should

Can

Girl
Bombay
Large
Long

(B)b (C)a (D) ¢
(B)b (C)a (D) ¢

King
We
Her
His

(E) d
(E) b
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Q27.
Q28.
Q29.
Q30.
Q31.
Q32.
Q33.
Q34.
Q35.
Q36.
Q37.
Q38.
Q39.
QA40.
Q41.
Q42.
Q43.
Q44.
Q45.
Q46.
Q47.
Q48.
Q49.
Q50.
Q51.
Q52.
Q53.
Q54.

(a)
(b)
(d)
(c)
(b)
(a)
(d)
(c)
(A)c
(A)d
(c)
(d)
(c)
(d)
(b)
(d)
(a)
(c)
(b)
(c)
(a)
(b)
(c)
(b)
(a)
(A)b
(A)b
(d)

Difficult
Grammar
Enough

To take care
Unlucky
Tail

Hair

To

B)b (C)b
(B)a (C)c
Yard

Sail

Care

Little
Prize

Very large
Sad
Difficult
Cruel

Potato

Brinjal

Peas

B)c (C)c (D) b
(B)a (C)c (D)d
Very tasty

(E)a

(E) b
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SAMPLE PAPER -l
HTOTET 3T
SHTERTUT o TN

Qug-ch

W1 TUTAAL.. ... ¥ i
(%)
(@) et .@
() T Q

(%) et E

.2 376 UDAIT &d o 9 .. .. TS WA

() (@)

(M () =1

7.3 ‘e’ ¥ yed S|

(@) dren = g

S _ -
(m - :.. .
(a) 3T —

W4 ‘IrumE’ vieg H SUH Bifen |
(%) o= (@) =
(M I G
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.5

.6

w7

.8

9.9

.10

&<t e =t fafy =6t 7 ST

(+) U (@) Qe

(M TEgE () w7

HE TAIsTeh GIRT STa T il -

H o1eft & S WAl R A 3 @ T

() zEfeg (@) e

(M) FHifw (&) =

wiyr sitsw:  fem + se™

(&) feue

(@) ferr™

(m) fede

(w) feHeAe™

TR ot EAT 11 & Y Sl et €& ... .. Bl

(k) 13 (@) 33

(mn 30 (%) 5

ECLECRC)

Haof ¥ vrearaett

oo safem ¥ ot 7 8 SA et ohga € i ol I 2r s .. ... hed )

() TId (@) g

() SR (%) fea

7[5 ¥ Bife)

(%) =™ (@) ¥\

(M uH (%) @
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.11 9o Sgfet; - SeT|
() =& (@) &
(M) sfe (7 W

@ A

T 7

A

(N

Ty 12, %ﬁzﬁmmﬁﬁaﬁmml

(%) (@)

()
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W.13 30T & I | gocAl okl ShIg & ISl | STTeTehet al TeTaent oral & St &l ..

. T
(%) TE (@) sl
(m i (%) us
.14 | o= 370 Arr-fuar =t ., 8 &
(%) ¥8d =R (@) @i & ar
(M) AEl ® AR () ¥ & WeRr
.15 e 70 AHTSH it INET § G §, TAAY 367 9gd ol HUS W & |
TdifeRd AT gaiaTe 918 BIfeT |
(F) HHS (@) d
(m adt (%) ==

T.16 o1 O @ shim-a forehed ‘e’ vTeg <Rt Sfora stel =&l <aT &:-
(F) BH HR SIeH? ¥R A WL 3 &
(@) wHieR 3 framt © T o fea
(1) % goE Y HH F @ T
(%) Tl HeIh! 7T Y @ R

U9 HE&AT 17 9 20 & fow
frefefiaa s =T = uget vl & Tel faekey sifew)

@@ g1 H (17) 1 TSR | -7 & T 1 T T (18) I 00d Ll 31 g |
HY 7o A heft 3T (19) o ogel § w Tél =Rl | 3 < Ie) 5t et § o i g v
T Y T U ek Siia B I L | S AR Gord IR el 3d, o (20) & Y
Hehd |
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9.17

9.18

9.19

9.20

YT HE&AT 21 W 24 & faU

() #HH
(@) ™
() @™
(@) oTaen
(%) dfEshR
(@) HATRR
(%) &
(@) et

(T
(=1)
()
(%)
(M
(¥1)
(M)
(%)

Hidar ol 9 Ta 7Y & AR 3 918 T =& -

Rd S¥ AR oF
TSI F (21) W
H g 391 dRX (22)
01 § e S=
U 1 (23) |
M (24) W=

921 (%) TANW (1) TEW
(@) = (&) weeRt
922 (%) foue () TEEre
(@) =ifeeR (&) F AR @A
.23 (&) HAR WS () N T
(@) S = (%) = e
924 (%) =l (M) =
(@) e (&) wd
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SET 1
LANGUAGE CONVENTIONS
Grammar And Usage

Fill in the blanks with correct form of verbs. (Q1-2)

Q1. The peon................. the bell daily.

(a) Is ringing (c) Ring

(b) Rings (d) Rang
Q2. Ramis.......... football.

(a) Playing (c) Plays

(b) Play (d) Has played
Q3. The third form of ‘bring’ is..........

(a) Bought (c) Buy

(b) Bringing (d) Brought
Fill in the blanks by choosing correct modal.
Q4. |I..... lift the box.

(a) May (c) Can

(b) Wil (d) Shall

(Q5-7) Choose the correct ‘noun’ from the sentence.

Q5. The boy is sleeping.
(@) The (c) Boy
(b) Sleeping (d) Is
Q.6 Choose the correct ‘pronoun’.
| play daily in the park.

(a) I (c) Play
(b) Daily (d) In
Q7. Fill in the blanks choosing correct preposition.
He had given ............... his lazy habits.
(a) Up (c) Over
(b) For (d) On

Q8. Choose the correct passive voice of the following sentence:-
Ram eats a mango.
(a) A mango was eaten by Ram.
(b) A mango is eaten by Ram.
(c) A mango has eaten by Ram
(d) A mango will be eaten by Ram.
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LANGUAGE CONVENTION
CONTEXTUAL VOCABULARY

Fill in the blanks with the correct word or phrases.

Q9. Canyou......... this word in the dictionary.
(a) Look at (c) Lookup
(b) Look after (d) Lookon
Q10. Who stole the mobile is stilla ................
(a) Mystery (c) Mysterious
(b) Mystrey (d) Msytery
Q11. Give the opposite of ‘small’
(a) Tall (c) Big
(b) Large (d) Long
Q12. What comes after ‘Thirteen’
(a) Eleven (c) Twelve
(b) Fourteen (d) Fourty
Q13. Choose the rhyming word for ‘Fish’
(a) Rise (c) Size
(b) Wise (d) Wish
Q14. Choose synonym of ‘Hamper’
(@)  Suitcase (c) Abag

(b)  Abasketwith alid.(d) Purse
Use first alphabet of the given pictures and make a meaningful word.
Foreg. :- M O P

AN [
LY ‘
-
(a) Mos (c) Mop
(b) Map (d) More
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Q15. (a) Sad (c) Sob
(b)  Son (d) Sun

Q16. Change the gender of ‘horse’

(a) Horses (c) Horsses
(b)  Horse (d) Mare
PASSAGE

Complete the passage by choosing the most suitable word/phrases
from each list to fit the corresponding gap:-

The Giant Panda is one of (17) rarest large mammal found in
bamboo forests (18) China & Tibet. It (19)
great resemblance to a bear. Pandas generally eat shoots
(20) roots of bamboo.

Q17. (a) And (c) An
(b)  The (d) A
Q18. (a) By (c) of
(b)  Off (d) With
Q19. (a) Shares (c) Shared
(b) Is sharing (d) Share
Q20. (a) The (c) And
(b)  With (d) Or
PASSAGE

There was once a shephard boy who lived in a village. Every morning he
took his master’s sheep out to graze in a meadow, near the village. On the
other side of the meadow there lay a forest, with wolves and other wild
creatures in it. The boy had been warned to be careful, and to call for help if
ever he saw a wolf.

Q21. Where did the shephard boy live?
(a) in a forest (c) inavillage
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Q22.

Q23.

Q24.

(b) in a hut (d) inaplace

He took his masters's sheep to graze... ..... ..... ?
(a) in a meadow (c) inawoods
(b) in a village (d) ina forest
Name the creature which lived in the forest.
(a) deer (c) wolf
(b) tiger (d) lion
Choose the liural of ' wolf .
(a) Wolves (c) Wolfs
(b) Wolf (d) Wolfes

it - (Section B)

T Toh

Qualitative Reasoning

Q25.

Sakshi planned to purchase an almirah for a space available at her home
having height of 260 cm. When she went to the shop, she found three
almirahs ofheight 265 cm, 180 cm and 250 cm. Which almirah will be best
suited for her home?

(a) 265 cm (b) 180 cm

(©) 250 cm (d) None

raft 3T X H T ST, FTEeht FamE 260 A 7, & foIw Ush TR wiie i 9t | 57el
I8 THM W TE N 3T @1 A STAHIRAT @, FTent Fam8 265 Y, 180 THY dem 250 Feft
off | SATET DI T STETHART 35 =R % foT Tard Suge ¢ |
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Q26. On her birthday celebration Meera arranged a game for her friends. There

Q27.

were four squares on a board and four numerals 5, 3, 8 and 1 were written
on four square cut outs that can be fixed on that cardboard. Children had to
place those numerals in such a way that the child who would make the
highest numeral by placing those cards will be the winner. Seema won the
game. Which number did she make?

(@) 5381 (b) 3851
©) 8531 d) 1358
379 ST FHRIE W {3 194 fisli & foe us ©ret st fovan | sua e
FHIEAE T IR FhR WM I d 9R AhR 91 o Zhel W 3HH 5,3,8F 1
for@ | The T8 TR 9 S STEHT A wEare B o9 @ | fhe @ e | s ferg
e G S 3Tkl & TN R Hord] SI] ST SIS T8 ofg farsta sfer gat | Tia
fersTar o1 | SraTs T forsTar = i T e T ?

Complete the sentence of Katty who is talking to Reena.
2 3 4 1 9 6

In my
country,
we read
this as

In India we read
this number as
Two lakhs thirty four
thousand
one hundred
and ninety six.
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Two million thirty four thousand one hundred ninety six.

31 fuferm i gk T 9R feama

Two hundred thirty four million one hundred and ninety six.

1 =i fafees e 9 feama

Twenty three million four thousand one hundred ninety six.
as9 fafea =R g9R = 91 fearma

Two billion thirty four million one hundred and ninety six.

3 fafeem =i faferm s 9 feama
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T[UIcHh deh
Qualitative Reasoning

Find odd one out.

9T 28 | 30

S 7T S 31 <1 oot | f= 7

928 (a) Rose (1) TeTd
(b)  Jasmine () =t
(c)  Marigold (F) T
(d)  Potato (T7) 3L

329 (a) Glass (1) w4
(b)  Air (9) =
(c) Book (W) fora=
(d)  Water () ot

930 (a) Rubber (1) We
(b)  Aluminum wire  (¥) THHHTH AR
()  Wood (9) wThel
(d)  Plastic (3) wEsh

Tt TTeriyT <Rt Ufeu 9T U9 WEAT 31 ¥ 36 ek ST QINT

3TN A BHR S T T 200 | Tk I Fohal | THRT YRA SR a1 TS o1
T | STIST ¥ I YRA T TITe IS GHEHH1 - Tiud foha 5o o | SSi § STSIe! &
T argd | R 3 3791 S S | 97T THE, TSATe qe Gead o1 hid! W efeeh fea |
et STt = T Sfemm & g fohan qen 3Ta § 15 TR 1947 i YRA il STSGT UG8 |

Read the passage and answer. (Q31-36)

British ruled our country for about 200 years. They made our country weak
and poor. Before Britishers Muslims were ruling India. Many Indians
sacrificed their lives against Britishers for our freedom. Bhagat Singh, Raj
Guru and Sukhdev were hanged. Gandhi Ji fought without any arms &
finally India gotindependence on 15th August 1947.

31, S H UBe WA U feRdent ImrEe on?
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32,

33.

34,

35.

) =S (9) T

(@) I (%) agh
Before Britishers who ruled over India?
(@)  Chinese (b) Muslims
(c) Christians (d) Jews

U A T fehee wrer v feman ?

(31) 100 @rA () 200 &t A
(@) 300 9 9 (T 400 & |
British ruled for about how many years?
(a) 100 Years (b) 200 Years
(c) 300 Years (d) 400 Years
YR ST § =il o1 ?

(31) wfafg = fow (&) el ) Heg & forg
(9) ISet % foag (8) I H HASR HH & foaw

Why did Indian fight against Britishers?
(a) For popularity.

(b) Help our leaders.

(c) To win our freedom.

(d) To make our country weak.

ferment vt < 2 ?

(31) e S (9) T&®
(|) W (3) . fas
Who was hanged?

(a) Gandhi ji (b) Nehru
(c) Bhagat Singh (d) Patel
foram gferamdi & forem g feram?

(1) W fog () TR
(|) e St (3) gocd

Who fought without arms?
(a) Bhagat Singh (b) Rajguru
(c) Gandhi Ji (d) Sukhdev
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36.

WA ohi ATSIET Sl (Hel ?
(31) 15 3T 1947 () 26 SFE 1950
(9) 15 S 1947 (T) 15 3T 1945

When did India got independence?
(a) 15th August 1947 (b) 26th January 1950
(c) 15th January 1947(d)  15th August 1950

foremgR e § g1 2005 H g | 3719 TMeaTel TXUE T U= ! agerl 9ed ¢ | ST
TS Ui T 9 B, TS i o1 e AR fSeRt 39 18 o A1 SHd AR € YT e |

Bilaspur village had election in 2005. Now the villagers are unhappy with
sarpanch & its panch. In the next elections held after five years they want to
change their sarpanch. Every adult of village will participate in the voting having
18 years ofage.

37.

38.

39.

WUA L. ...
(31)  Arifera fman S ® 1 () g gR A A S
() fEwfFmIme (3) 99 4 ®E 7|

Sarpanch is

(a) Nominated (b) Elected

(©) Appointed (d) None
foremagy wia ® gra e I ?

(1) 2004 (9) 2005

(") 2006 (%) 2008
Elections in Bilaspur were held in which year?
(a) 2004 (b) 2005

(c) 2006 (d) 2008

TS R o aTg B § 2

() =FREE () <9

(F) U= EE (3) e 9
Elections take place in how many years?
(a) 4 Years (b) 2 Years

(c) 5 Years (d) 6 Years
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40.

41,

42,

T Wiohan & i feemn aar g2

(1)
()
(%)
()

Eic]
e 9

A
e 1 B %k TEeht 39 18 o8 a1 3HY 31y B

Who participated in voting?

(a)
(b)
(c)
(d)

Children
Villager
Women
Villagers having 18 years of age.

T | AT §?

(1) 1599

(F) 16T

(F) 18 I a1 399 37y
(7) dEa

Adult refers to?

(a) 15 Years

(b) 16 Years

(c) 18 Years & above
(d) 20 Years

IR AT FreTraqy § hel &A1 ?
(1) 2008

(/) 2010

() 2015

(Q) 2009

Next election in Bilaspur is due in?

(a)
(b)
(c)

(d)

2008
2010
2015

2009
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Section-C
Quantitative Reasoning (Q.No. 43 to 60)

HTATHh deh (U9 43 | 60)

Q.43 2 D well o g i fenelt ar i ool o fed o €1 g A S esH @,
fereit Brat 37T Tk foheil ek @RI | 38T et ATt ol feher U it ?
Given below are the prices if fruits sold per Kg/dozen. Help Hema to

calculate the amount to be paid to fruit seller if she bought 2 dozen
bananas, 2 Kg apples and 1 Kg oranges.

Rs. 150 per kg Rs. 45 Rs. 60 per kg
(a) Rs 900 (b) Rs 450
(c) Rs300 (d) Rs600

Q. 44 Taa T & 9w

Complete the web.

A( 8X5=40 8(8 X 10 =80
16 X 5 = 80
c( 16x10=160 D

(a) 60 (b) 160
(c) 80 (d) 100
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Q.45

Q.46

3T A HEAT TG WX I | 8 3{eh S Tt 97 W &g TTerell § I § 8 hed
AT et T | STt g S uge 2

Anu had to walk 8 points towards right starting from zero on number
line but she went 8 points towards left by mistake. Can you find her
position?

(@) 8 (b) -8
(c) 10 d) -10
Tl YTeRT ST ST TST o7 | SHT A1 3 S8 TG T 15 % 30 T4 o1, faar it 3 16
T 80 UH SR RIS 7 10 %. 15 T 1, TRT S 7 20 . 45 T 1 YR fam |
AT 3 hel fohd 1 SURR et |

(A)  42%. 25T9
(B) 33%. 60T
(C) 60%. 709
(D) 50%. 50 %9

Yesterday was Radhika’s birthday. Her mother gave her a present
of 15 rupees 30 paise, father spent 16 rupees 80 paise and Dada Ji
spent 10 rupees 15 paise and Dadi Ji spent 20 rupees 45 paise on
presents for her. How much money was spent on presents?

(@)  42rupees 25 paise (c) 62 rupees 70 paise
(b)  33rupees 60 paise (d)  50rupees 50 paise

Q. 47 39 3Hfa | FreIsil st HE& A w4 |

Count the number of triangles in given figure.

(A) 20 (B) 15
(C) 18 (D) 1

AN
XXX
V4
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Q.48 fUeht = Ut fohatar 9t # fe@md T3 w0 ™ UX Ut 916 i | 36 T ferare

YA H 3 Fe T AHA T | 36 feha™ ol T&ieh Ug i @H o |

Pinki started reading a book at a time shown in clock given
above. It took her three hours to finish the reading of book. What
time did she finish reading?

(A) 8:40p.m.
(C) 9:00 p.m.

A 9T H e o | 3-am SEA Steh ShiuT o= ?

Garima had to construct an angle of 45°. She made a linear angle
and divided itin four equal parts. Did she made the correctangle?

(A)  Yes (B) No

Q.50 T Teh <A VT § 3T 31U YTk ShIUT ST Wi TOT E 1 BT AT SAT3TT ?

Q.51

| am an acute angle and | am five times my complementary angle.
Find me.

(A) 75° (B) 45°
(C) 15° (D)  90°

ABCD T& Ty §| $Heh TS ShIUT ST 0T SIS |

ABCD is quadrilateral. Find the value of its fourth angle.

(A)  90° (B) 110°

(C) 65° (D)  100° D C
? 75°

85° 909
A B
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Q. 52

Q. 53

THT < Wk O § Wehd WEATSAl o Sh1Sd STl | Wi = 39 0 T A1 oft
T foam | ara & it it Heet &= g ?

(A) iEed  (B) Uiw
(C) w=a®ewd (D) f=

Reema took a bag containing cards of natural numbers.
Sachin added a card of zero in it. Can you tell now what will
these numbers be called?

(A)  Whole Numbers

(B) Integers

C) Natural Numbers

(D) Fractions

faetfi= C : el :: ? S-adt

(A)  foafm A (B) faarfm E

(C) faatmK (D) faer®= B

Vitamin C : Scurvy : ? : Beri — Beri

(@) VitaminA (b) VitaminE
(¢) VitaminK (d) Vitamin B
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f@& o st ufew ofit fd g woet & s fifvm

a1y fafi= it o fasioT &, 9 & I o/ead g e 1, SitaRiieT i, shieie
TTE 2ATHATEE T T W N & | et Starrat vt ufervta it feam man )

Tagal & ATH IS GieaTd
e T, 78.1%
stferdto T 20.9%
FETSE HFEEs T 0.03%

3 0.9%

T AfARa a1 H Terarsd 3 JeAehUT 2 & |
Read the following passage and answer the following questions.

Air is a mixture of gases. The major constituents of air are nitrogen,
oxygen, carbon-di-oxide and argon. The percentage of composition
of constituents of air are as given below.

Name of constitutes % Composition
Nitrogen gas 78.1%

Oxygen gas 20.9%
Carbon-di-oxide 0.03%

Argon 0.9%

Other components of air are water vapour and dust particles.

Q. 54 TaT H AZEISH o TGS I T HA : &7

M 9% () 10%
(") 100 % (T 78%
The total percentage of Nitrogen and Oxygen in air is?
@  99% (b) 10%
(c) 100% (d) 78%
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Q.55 o T AEEIS ST RIS 76 ot ST fehe T &2

Q.56

(1) 30 () 50
(") 40 () 42
What is the ratio of Nitrogen and Oxygen in the air?
(@  3:1 (b)  5:1
(c) 4 (d) 42

/B Sal | qr o whaerd §, S e aei # foar e -

& e forr § STial st Ut & AT o 3R W ¥ed oA | foral/sraferd
A | (TP H. 56 AUFAE, 60)

(31) <A > geft > qHe > U

(F) THRRX < Tt < U < °d

(W) <TERX > U > qHg > gt

(3) Tz > HgHT > 7ell > TN

Percentages of water in some living organisms are given
below.

Arrange the above organisms in decreasing order on the basis of
percentage of water.

(@)  Tomato > Elephant > Human> Tree

(b)  Tomato < Elephant < Tree< Human

(c) Tomato> Tree> Human > Elephant

(d)  Tree > Human > Elephant > Tomato

P

- Tree (A0%]
= = |
Tomato (90%,)
Elephant {80%) ;r'.?.- !.]i
i —— M
Human (70%)

Parcentage of water in'some living organisms
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Q.57 W T 7 fort ® Sl ol UTHT o | @ ST WY &gd ohd o
forat /erafiera & |
(37) TME < TS < Tt < TR
(9) Tg < HFa < R < weft
(d) Ug<ura< @t < TR
(3) T >l > THRE > HEd

Arrange the above organisms in ascending order on the
basis of percentage of water.

(@) Human < Tree< Elephant< Tomato

(b)  Tree < Human< Tomato< Elephant

(c)  Tree < Human< Elephant< Tomato

(d)  Tree > Elephant> Tomato> Human

Q.58 T H... ... | 10 Afdqera iferes U gt 72

(1) T () T
(@) @ ()  THAHE T
Elephant has 10% more water than................. '
(@) Tomato (b)  Tree
(c) Human (d)  None of these.
Q.59 S f&d U et ¥ | form g | ut et U wed 31tk 2
(31) W () THX
(") Ug (2) el
Which of the above organism has maximum % of water?
(@) Human (b)  Tomato
(c) Tree (d) Elephant
Q.60 R ferd T e ® @ e S W Ut oY TS Hed RW §?
(31) W (@) THX
(") Ug (2) el
Which of the above organisms has least % of water?
(@) Human (b)  Tomato
(c) Tree (d) Elephant
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WTHTE 3T

I Hehd UIA 1.

(1) @ (2) = (3) @
(4) = (5) @ (6) T
(7) =@ (8) @& (9 =
(10) T (1) = (12) T
(13) T (14) @ (15) =
(16) = (17) @ (18) =
(19) (20) T (21) @
(22) = (23) = (24) =

Section B

Qualitative Reasoning
- TUTTHeR Teh

I Gahd
25 (9) (c) 26 (C) 27 (b)
28 (d) &g 29 (c) feramel 30 (b) Tl
31 (31) (a) 32 () (b) 33 (¥) (c)
34 (31) (c) 35 (¥) (c) 36 (3) (a)
37 (&) (b) 38 (9) (b) 39 (9) (c)
40 (2) (d) 41 (9) (c) 42 (9) (b)

Quantitative Reasoning
i |t

AT qeh
43 () 44 () 45 ()
46 (9) 47 (31) 48 (31)
49 (39) 50 (31) 51 (9)
52 (&) 53 (®) 54 (37)
55 (¥) 56 (1) 57 (9)
58(9) 59 () 60 (9)
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N O w =

13.
15.
17.
19.
21.
23.

25.
27.
29.

43.
45.
47.
49.
51.
53.
55.
57.
59.

SET -1
ANSWER KEYS
Section - A (Language Conventions)

(b) Rings 2. (a) Playing

(d) Brought 4. (c) Can

(c) Boy 6. (@)l

(a) Up 8. (b) A mango is eaten by Ram.

(c) Look up. 10.  (a) Mystery

(c) Big 12.  (b) Fourteen

(d) Wish 14.  (b) A basket with a lid.

(a) Sad 16. (d) Mare

(b) The 18. (b) Of

(a) Shares 20. (c)And

(c) In a village. 22. (a) In a meadow.

(c) Wolf 24. (a) Wolves
SECTION - B

QUALITATIVE REASONING

(c) 26. (c)

(b) 28. (d) Potato

(c) Book 30. (b) Aluminum wire.
SECTION-C

QUANTITATIVE REASONING

(b) 44. (b)

(b) 46. (c)

(a) 48. (a)

(a) 50. (a)

(b) 52. (a)

(d) 54. (a)

(c) 56. (a)

(c) 58. (c¢)

(b) 60. (c)
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Sample Paper Il

WTETE ATe
SHTERTUT T ITIHENT
Qe 's®’

9T 1 TN | ST .. .. g e |

(%) dfau (@) = fag

(M @& fag (=) ferg
U9 2 ATl o i - | T qd |

(%) "™ (@) =

(M =R (%) sfed
o3 ‘' St e v B

(&) = (@) fm

(m) faem (%)  THeH
U9 4 TEBIET W BIEl eatt fraeh s 7 & ¥eh ——--sheeTwet ¢

(%) =0 (@) =

) =R (F)  =FSH
Yo 5 ‘Sa’ § Yy Sifeq

(%) @« (@) 4am

(M o m (= =
U9 6 IHeh U H SIgd <AT ¢ SHICTT 98 ————- T

(%) Taq (@) Tt

(M) AR (%)  HEA
Y9 7 W, T, 3T U § O ol Weieh ITs hiM-AT &7

(%) HTh (@) =k

(M) wEA CHIECT
YYT 8 ITHT ---- T Uielt & | (3fera fagioror vreg grr e wom viRw)

(%) I\ ey
(@) gl T
(m ™

(7)) SRl
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wug ‘@’

Had & yregreet
TIT9  ITuRTel F o it |1 g R S q@e o ¢ R aret H w —--%)
(%h) e (@) el
(M) e () 7
TIT 10 T © G A § - T (e vreg gRy e worm o)
() (@) T
(M) g (7) wew
U9 11 I[5 918 BT :
() STIRmEA (@) Ag9Ed
(1) STRIEA (&)  SAgemEA
9T 12 |HT Sa TH § MRS ¢ |(T@iehd ITeg ol 37 TATE0)
(%) w9 (@) <™
CORECH] () TRME
U9 13 ITeg & 0 ©U | qEw a1 G S A arer 8 39 -
(%) wHfem (@) gfee
() fefm () o=

TIT 14 TSR U T § -6 g ¢ | (F97 qg(10)

(%) ASH (@) asfwat
() ASH (a) Wk

Ty 15 oot a9 7 o fRTR a6t €| I@iihd 9168 T URigETe Bifet |

(%) St (@) d9cd
(M) | CIRIGIE]

W 16 3MTSTchet T el Tad &, T0 aF ——- & 7T & | (Yare’ gy e wors ot
AR

(%) TS &1 A B (@) gffar =1 =ie @
(1) STHER R @i e (F) QU WG o
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gug ‘T’

TS gfd hIfST (W97 |E&Ar 17 | 24 & foo)

et 3 Sten €1 a1 & —— T TR H 81 17 1 e Biar & 1 IR Rl o W & ferw
AW 3MEYIS ¥ | AEW J TR AG-UfemEt 18 8l €, 19 w1 S=R &l § 991 IRR
TR &l € | ORAT, S[AAT, T hil, SIS TR, ARTEA ST a2 fafa= yahR & B
WA - FT =AM € | A HE § YR 20 591 &A1 § | SHATEM hl garad T8 21 a9
YIehTel © | SATATH 1 AT 3T 22 & STTHR ST =1fen | fonfef=i o1 =mam st e1ea
ST TMTET | T AT Bl 23 S h Tehdl § | 3Td: S{e @ 24 I IH & fAu R q
T AT AT A |

99 17
(%) ST IR (@) T HiIseh
() Ty giaash (%) T IR
99 18
(h) U= (@) &=
(7)) HEER (F) &R
971 19
(%) d@x (@)
() ' (7)) T
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9T 20
()
(M

9T 21
(%)
(M

9T 22
()
(M

9T 23
()
)

a9 24
()
(M

a2 et

et X TRdra

L ES

d

SR
gfa

WY

WA

S
g9

(@)  Booht AR et
() AR SR e

(@) 9EH
(%) 9d: A

(m) a9
() HEUS

(@) e d
() T H

(@) HE
(=) gsf
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Q.1

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Sample Paper Il SET -2
LANGUAGE CONVENTION
GRAMMAR & USAGE

Fill in the blank by choosing correct verb.

We going to the zoo.
(@) Is (c) Are
(b) Has (d)  Were

Fill in the blanks with correct article.

Mannu is intelligent boy.

(@) An (c) Any

(b) The d A

Fill in the blanks by choosing correct preposition.
The child was climbing the tree.

(@) Over (c) Up

(b)  On (d)  Above

Choose the correct passive voice of the following sentences:-

The postman delivers the letters.

(@)  The postman is delivers the letter.

(b)  The letters are delivered by the postman.

(c) The letters have been delivered by the postman.
(d)  The letters will be delivered by the postman.

Fill in the blanks with correct modal.

you live long !
(@) May (c) Wil
(b) Can (d) Could
Change the gender of ‘Bride’.
(@)  Bridefroom (c) Bridegroom
(b)  Bride (d)  Brides
Choose the Il form of the verb ‘Carry’.
(@) Carried (c) Carried
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Q8.

(b)  Carries (d)  Carrying
Chose the pronoun from the sentence.

Rahul loves his mother.

(@) Rahul (c) Loves
(b)  Mother (d) His
CONTEXTUAL CONVENTIONS

Chose the closest meaning for underlined word/phrase.

QO.

Q10.

QM.

Q12.

Q13.

Q14.

| did not catch what you said.
(@) Know (c) Believe
(b)  Understand (d) Ensure

Choose the opposite of ‘Early’.

(@) Last (c) First

(b)  Soon (d) Late

Itis far hot to go to market.
(@) Two (c) Toe

(b) To (d) Too

Choose the correct plural of “Tomato’.
(@) Tomatoes (c) Tomatos

(b)  Tomato (d)  Tomotas

Write an adjective to describe the noun ‘Sky’.
(@)  Yellow (c) Blue

(b)  Green (d) Red

Choose the correct meaning of ‘Chopped’.
(@) Cutinto pieces.

(c) To strike.

(b)  To hit

(d)  To bring down.

Rearrange the words to make the name of a Month.

Q15.

CARHM
(@) Charm (c) Harmc
(b)  Rahcm (d)  March
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Use the first alphabet of the given pictures and make a meaningful
word. For Eg.,

(c) Bed
(b) Sad (d) Bad
PASSAGE

(Picture - Crow)

Read the passage carefully and fill up the blanks by choosing correct
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options. (Q17 — Q24)

Once there (17) a crow. It was very (18). It
searched for (19) here and there. But couldn’t find water
to (20). Then, it (21) a pitcher of water.
The (22) of water was very low. It put (23)in

the pitcher, water came up. It drank the water and flew
(24). So, where there is a will, there is a way.

Q17.

(@) Was c) Is

(b)  Were (d) Are
Q18.

(a)  Happy (c)  Hungry

(b)  Thirsty (d)  Sleepy
Q19.

(@) Food (c) Nest

(b)  Grains (d)  Water
Q20.

(@)  Drinks (c) Drink

(b)  Drank (d)  Drunk
Q21.

(@) Saw (c) See

(b)  Sees (d) Seen
Q22.

(a) Leveling (c) Level

(b) Height (d) Levels
Q23.

(@)  Sticks (c) Stone

(b)  Pebbles (d)  Straw
Q24.

(@) Went (c) Go

(b)  Gone (d) Away
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A Sit- U doh
SECTION - B
QUALITATIVE REASONING

(Q25 - 42)

Q25-27. Choose the odd one out.
gl foeheg gHw:-(25 9 27)

Q25.
(@) Hut (b)  Flat
(c) Igloo (d) Factory
(31) et (F) W
(1) s (3) SR
Q26.
(@)  Driver (b)  Passenger
(c) Pilot (d)  Sailor
(1) ek (&) e
(&) fomm =reren (3) ifash
Q27.
(@) Rajasthan (b)  Punjab
(c) Haryana (d)  Pakistan
(31) USEAM (F) U9
(&)  =fRamm (3) dferem

T 28, AfE 3 10 T ok § AT 3T T 3652 fe St geh B St w8
HEATRAT ol 39 & WY e & | fomm uRerer fepw deameti st smier
U T T gU e et |

(@  11-(T),12-(2) 13(h), 14(H)

(b)  1-(Z1)12(T), 13-(3H) 1 4-(F)
() M-(3N),12-(2N), 13-(V), 14-(H),
(d)  11-(FD), 12-(s), 13-(T) 14-(=N)
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29-

If you are 10 years old, you would have lived 3652 days. Compare
the numbers given below and match the age of the days lived. Do
not calculate. Match by putting the numbers in ascending order.

==
e

" %
| |

A B D
11 13 14
(A) 4383 (B) 4748
(C) 5113 (D) 4017

(@ 11-(A), 12— (D), 13— (B), 14— (C)
(b) 11— (D), 12— (A), 13—(B) 14— (C)
(c) 11 -(B),12-(D), 13- (A), 14— (C)
(d)  11—=(C), 12— (B), 13— (A), 14 — (D)

mqﬁﬁﬁﬂﬁmﬁﬁﬁwaﬁm@mmaﬁ?

(@ A- @Y B-wiA (b) A- =M B- o9
(c) A- @MW B-am™ (d) A- == B- =1fq
A Rs. (a) A Profit
) B Loss
Cost Price : 429
ESSal
Selling Price : 419 (b) A Loss
¢ PR B Profit
Rs. ,
(%) (c) A Profit
Cost Price : 305 B Loss
ERESE
Selling Price : 340
o e (d) A Loss
B Loss
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730, oitufq gmt 3 3.5 feRaume =i+t @S| SRR <t & fgsai W
AT -STET STEAT | S8 Uk fEs | fera=it =it S Tett ?

Mrs. Sharma had bought 3.5 Kg of sugar. She put the sugar equally
into two jars. How much sugar did she putin each jar ?

e
., »
-
p il -
DR U
: N i ~
L
- --“ :
o
(@) 1.3Kg (b) 2.3Kg
(c) 1.75Kg (d) 2Kg
3TTeT Thi Ugeht TR ST (W 31 | 36)

Read the passage and answer the questions. (Q31 —36)

g 9 Uge fohdT T ek Teh Afeet off, feht T gog bl UTed 21 77 | T8t et
TS I IAH TER-IER T & feI g & off | u1g 9ol =Aferd 38 AT 95 & U o
T | HETeHT 95 - Afgatl b T o fo foneft off Uah THoR |, ST g A g8 o, 4ol N
T & T o 73T | TETeH 95 A TR Rl Aok o1, THI ol 3TEX hAT Fo@mn | guR
e H S e HIfed 21 S, 98 SAR U1 & RSN § | 55+ I8 WY T okl 3TH 9T
TTehd H fea |
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Once there was a women named Kisangotami whose son had died. She
was so sad that she roamed through the streets carrying the child. A kind
man took, her to the Budha. Budha said bring him a handful of Mustard
seeds from the house of a family where nobody has died. Mahatma Budha
taught people to be kind & respect others. He believed results of our
actions whether good or bad are due to are karmas. Budha taught in the
language of the ordinary people. Prakrit.

U9 31, AiEAT Rl AT T 97?2

() formm it (@) et

(1) T (m)  foam A

What was the name of the women?

(@) Kisangotami (b)  Gautami

(c) Gomti (d)  Vian Gomti
U9 32, AEEAT oh | ST TSAT T ?

(%) THAHITY (@) YAH

(M foa s gy (7))  SER B

What happened to that woman?

(a)  Death of son. (b)  Birth of son.

(c) Death of father. (d) Fallen Sick.
YT 33, 3 WET 5 o UTH hid of T2

() o0 AR (@) =T iR
() @ AlK (7)) o Ak
Who took her to Mahatma Budha?
(@) Bad man. (b)  Clever man.
(c)  Old man. (d)  Kind man.
U9 34, ST Og 1 3H Aol € &1 o1 o foTg el ?
(F) TXHIA (@) =Ea
(M T’ (7)) wWE & IH
What was she asked to bring by Mahatma Budha?
(@) Peas (b)  Rice
(c)  Wheat (d)  Mustard Seed.
9T 35, W 95 o hINUT A aht T fehtlch ShIXUT &7
(%) Gl % HR (@) HHl % HRO
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() A & HRW (}) IS hRO

According to Mahatma Budha what happened in our life is due to?

(@) Sins (b)  Karma
(c)  Accident (d)  Planning
U9 36, HETHT g oh HayT fohd T H o ?
(®) Y& (@) W
(M) ®RE (%) H=HA
Message of Mahatma Gandhi was written in which language?
(@)  Prakriti (b)  Prakrit
(c) Peeslan (d)  Sanskrit

=T Thl Ugeht ST ST (T 37 | 42)

Read the passage and answer the questions. (Q37 to Q42).

TSel Th S oh SITel o Scar =i 1 gs off, T8 <19 <t o SR Shiet ST Al |19l &1 |
Hiel & AR T TSl , Fesl! q Aael W & | et o Tl HSelt TeheH o el hl
- T HTd © A HSEH qei o TeTC, 78 oI ol I8 SRS hid & 34 dH1-a<e
FEAE |

It is believed that fishing net was first used by the Chinese and when the
Chinese traders came to India along with them they brought fishing net.
Most of the people in Kerala eat fish, vegetables and rice. Fishing net is
called as Cheena-Vala in Kerala and the utensils which are used for frying
are called Cheena-Chatti.

YT 37, oW U WSEH Uehg aTe! SITeT ohi AT ohel & ?

(%) SMUH (@) =M

() 9 (%) oftetem

Where was fishing net first introduced?

(@) Japan (b)  China

(c) India (d)  SriLanka
U9 38, USTH UhS oh ITeT ohl ehicT W chie ekt 31T ?

(%) =i =Rt (@) =

(M) St (=) I

Who brought fishing et to Kerala?
(@) Traders of China. (b) King
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(c) Japanese (d)  Soldier
U9 39, hIET oh @I oAt WA WIS o § 2

(%) T (@) wa e
(m g () mew
What is the main food of the people of Kerala?
(@)  Milk (b)  Fish & Rice
(c)  Wheat (d)  Maize
Y9 40, AN UhSA h SITeT ohl o1 ohgd &7
(%) = e (@) H\ ge
(M) = e IR
Fishing net in Kerala is called as?
(@) Meena Vala (b)  Seema Vala
(c) Cheena Vala (d) Heera Vala
U9 41, il IR o ford feed o Rea 72
(F) T (@) dfv=m
(M) e (F) T
Kerala is located in which direction?
(@) East (b)  West
(c)  South (d)  North
U9 42, HSET 9T ATt S ohl 9T hal Srar 2
(F) A= (@) ==
(M) =i A (&) = et
Utensil used for frying is called?
(@) Heena Chatti (b)  Cheena Chatti
(c) Cheena Malti (d)  Cheena Jhapti
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SECTION-C
QUANTITATIVE REASONING

(Q43 to Q60)
T AT oh (U9 43 | 60)

Q. 43 ¥ TH G § | Y9I 59 @ H & T fRan S § o 625 ST § | s H

HEEI

| am a number. When | am multiplied by myself the result is 625.
Who am |?

(@) 25 (b) 20

(c) 15 (d) 35

Q.44 sifar AB =3 cm., BC=1cm., CA=1cm. ! ST oiehl Tk 1St ABC
T T RIS T & | TR S o 21 21 o1 Tt | et e o= & 2 wdifep-

Ankita is trying to make a triangle taking sides AB = 3 cm, BC =1
cm, CA =1 cm but triangle cannot be constructed. Can you tell the

reason? Because:-
(@) AB+BC=CA (b) AB+BC<CA
(c) AB+BC>CA (d) AB = BC
Q. 45 R
Complete it
(a) 416 316
(c) 400 (d) 512

Q.46 949 ¥ B A e faen (= <1 Tt eepfa #)
Count the numbers less than 949 in given picture.

CEPEPEPED
SR EPEPEY
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Q. 47

13 15 17 19 ?

o & o o ©

Q.48

Q. 49

(@) 21 (b) 31
() 29 d) 23
3T Y U WEHT o S &= T shh ST 971 36 9.20 a.m. W @T |

Theh ST TET | Sheh o9 B 2/, 0 T | SUERT cheh feha™ ool SITeht I e
T™r?
Anu wanted to bake a cake for her mother’s birthday. She started

baking cake at 9:20 a.m. It took 2% hours for complete baking. At
what time cake was fully baked?

(@) 12.35a.m. (b) 11.35a.m.
(c) 12.20 a.m. (d) 10.20 a.m.

a3 wes fi= foret fant 3191 5 3 & 9 71 o/ 09 ST e
ek 31 fi foram | sfd & 3o ugett iR gt i1 =t Tqom & feam)
S T GEAT YT §3

Shikha wrote a fraction whose numerator is 5 and

denominator is 9. Then she reversed to get the other fraction.
Then she multiplied both fractions. What number she got?

@ 2 (b) 0
c) 1 (d) 5/9
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Q50. @

/N
O OGO
P
& O

@) 42 (b) 52
c) 10,2 d) 22

Q 51. TfE Uk a1 AT ST 1971 T, & T oI O BTefehd ST AT &S0
AT Fehd 1 ?

If area of one square is 1 cmx, can you find the area of
shaded portion?

| T 1]
(@ 9cm2 (b)  10cm2
() 8cm2 (d) 6cm2

Q 52. T T 37U FHIGT WX Theh ShIET ST IHET 4/7 T WRT G @I 3T
5/39t T Reant vt ¢ fea | Faren ferem soer &has @ ?
(@) W (b) f=
(c) M A IR W (d) afem

Rama cut her birthday cake and herself ate 4/7 part of it and gave
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5/3 part to Rinki. Who ate more cake?

(@) Rama (b)  Rinki
(c) Both ate equal. (d)  Sachin
SET-I

T. 53 ¥ 56 79 {qU M HB At o Sa-enTe g, T Ufel 31 T it |
(Q53-56) Read the particulars of some animals age and answer:-

.53 EeQ ST Sita ohiet ford S ot 32 _ ,
Animal ‘ Life span (years)

(31) el q 193

Galapagos land tortoise
: 70

Sy ES Eiephant gl 9-&
(@ I

(3) A

S

Which animal has the longest life span?
(a) Elephant (b) Rat
(c) Lion (d)  Tortoise
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U9 54, BT T STATRTT I o STa-ohTed | Toha=T 31 72

(1) 357 () 105 T
(@ s () 19T
How many years is the life span of elephant more than that of a
lion?
(a) 35 Years (b) 105 Years
(c) 15 Years (d) 19 Years
W9 55, Weh It ahT SHaFehTet 98 o SaTehre ... .... ¥
() 1edwH () 119 Afeen
(F) 10 = sifeek (3) 1099 HA
Life span of a chicken is ............ than that of a rat.
(a) 11 Years less. (b) 11 Years more.
(c) 10 Years more. (d) 10 Years less.

9 56. T, 9T, T <& I SHSERTA o Ted il § SHafeerd il ?
(1) ¥R> it > =@ (&) =@ > gt > ;W
() Tl > IR > =@ (3 > > =@
Arrange chicken, lion & rat in the descending order of their life
span:-

(a)  Lion > chicken > rat
(b)  Rat > chicken > lion
(c) Chicken > lion > rat
(d) Lion > chicken > rat

Y9 57 W 60 @ foU
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= fo 9§ IR Ym ABCD feame 7 €, foed SR & fomg 2ifed €1 g
Yo § IR & 191 g1 o o W19 <kl ST 790 ©, 39 3TMUR W Y97 57 F 60
I ST |

In this diagram four scales ABCD are shown in which centimeters have
been marked. Arrows have been shown in each Scales to show some
measurement. Now answer Q57 — 60 on this basis:-

Y9 57, i 9T UHTAT 3,5 QHT, St AT kT <971 @I & ?
(31) T A (d4) YHMI B
(") YmFrC () TmAID

Which scale is showing 3.5 cm length?
(@) ScaleA (b)  Scale B
(c) ScaleC (d) ScaleD
Y9 58, Uedleh UHT ohl TEl 71T ohil § §:-
(s1) 2 9., 3 94, 1.5 9. 4 .
() 2 9l 4 9., 3 9. ,1.5 .
(@) 4 9H., 399, 2 9., 1 M.
() 4.5 9., 3.5 AT, 2.5 A 1.5 I

What is the correct reading of each scale in order?
(@) 2.0cm,3.0cm,1.5cm,4.0cm

(b) 2cm,4.0cm,3.0cm, 1.5cm

(c) 4.0cm,3.0cm,2.0cm,1.0cm

(d 45cm,3.5cm,2.5cm,1.5cm

YT 57. i AT UHTAT 2,5 QHT, oht AT kT <971 @I & ?

(31) Y9 B () TWFED
(|) Y9 A (3) TmC
Which scale is showing 2.5 cm length?
(@) ScaleB (b)  Scale D
(c) Scale A (d) ScaleC

Y91 60. YA ABCD hi ekl WY o 3TN Ued il H Saierd o |
(s B>A >C >D
(&) A >B >C>D
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& A>B>D>C
¥ A>C>D>B

Arrange scales ABCD in decreasing order of their
measurements:-

(@ B>A>C>D
(b) A>B>C>D
(c) A>B>D>C
(d) A>C>D>B
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HTETT TR
I Hehd
1. (M) 2. (=) 3. (@)
4. (F) 5. (@) 6. (F)
7. (@) 8. (M 9. (@)
10. (M) 1. () 2. (®)
13. () 14. () 15. ()
16. () 17. (@) 18. ()
19.  (®) 20. (M) 21.
2. & 23. @ 24. T
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SET - 2

ANSWER KEY
SECTION - A
LANGUAGE CONVENTIONS
are 2. (a)an
up 4. (b)Can
may 6. (c) bridegroom
Carried 8. (d)his
understand 10. (d) late
too 12. (a) tomatoes
blue 14. (a) cut into pieces
march 6. (c) Bed
was 8. (b) thirsty
water 0. (c) drink
saw 2. (c) level
Pebbles 4. (d) away
Set I
Sec B - Qualitative Reasoning

26. (b)

28. (b)

30. (c)

32. (a)

34. (d)

36. (b)

38. (a)

40. (c)

42. (b)
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Set I
Section C
Qualitative Reasoning
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N N N N N N N N N

AN AN AN N N AN AN SN

N N N N N N N N N

Class VI Problem Solving

123



U9 2,

SAMPLE PAPER -1l

(F) I () Hen
(@) o () el
AR | IUE Bifeq

(&) =19 (M  Er
(@) = (7) IR

U9 3. 3 faehedl W 9 i W foram o 9T §7?

(F) Had AHhHS
()  Had GHhHE
(@) 3THHS AR THHS

(%) < H 9 R T

9T 4, WifEd M ..., S S|

YT 5.

I 6.

(%) H (M &
(@) = fau (= =

T ... 3TW W ¥ | GEATareieh fa9IouT gRT Y16 ok TS SHIlWTT |
(%) =R () «&gd
(@) (7)) T

‘&, S, |, T - BT Gl & Hel § e W F i |1 9Teg STE S
(®) HuA-FHRE (M) SRS
(@) WHHEl ()  FUA

v 7. TRt cafer g To= T oM INfE & A ... ... HEd §

(%) FeAH () e
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(@) foa (a) =

U9 8. ' IaehTord ' ITeg fohed firet aht ST B

.9

.10

.11

.14

(F) TH+FHEE (7)) TS + A
(@) TER+Td  (F) TE&+d

wug'w’
el o vregraet
T g A e T T, eI A M Ied ., . e w i)
(%) g (m  Hwe
(@) & (&) =@
... St T W fetenT |
(®) =R (M e
(@) ¢ (%) =R

e o | i | g T o W@ ufee =& )
(%) Y-Uar (M) -
(@) AT (9)  =rer-arE

T 3% v fas ... @

(F) (M » :
(@) <= (7)) equE s #,? . _il
e | 9 Sl9-91 95 ®U§?

(%) fagmm (M T
(@) R (7))  fawrEs

Y UTH Uk Y&k & Welieh YEAehTerd U 3eh... ... & | 99 seeia e
AT &l 91T |

(®) T&h (M TEw
(@) g (%) gi&hTg

RIS W oG fSTa-T o ¥, UgTe | Sein S+ &
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T 9T
(%) A (M Hgvwa
(@) 9« (m) iR

Y 16, TWIET § STRIT 8 ATET & | STHAH | et AEe ST gU E | Hied e
BT EU & | IWiehd 168 hT TATIET &l &7
(%h) TR (M A

(@) ot (") &R " a'ﬁi:::-‘u
'.;'.__"' ‘F.:': _\_\ =l
Qug ‘T’
TR gt
9T WE&AT 17 9§ 24 @ faU

= feu T o # ¥ 1 v fee feu e 1 3 v gk Red v & faw i
foreredt & efiret € 1| ot w1 ufeu iR fou T fomredt § & 3fed fasheq gHe we=n o=t =i
RIS
Yo ¥

17 S S,

Tated &= faened, fooeh

T 18 AT 19 F% T foh g3 el Td ¥ 9gd o @R ¢ | sqfe H foermera # 3ufterd
THH 20

B 1 37 : q <1 fT o1 21 UG Y | 3TT9ent 37fd 22 1T | STT9eRt 23 o]
3R 24 oo

CIRCRIR

EXIIET

FIRIR-5

U9 17,
(%) ot (M o
(@) et (@)  shmfa
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T97 18.
()
(@)
9T 19.
()
(@)
997 20.
()
(@)
97 21,
()
(@)
97 22,
()
(@)
99 23,
()
(=)
99 24,
()
(M

Tt
aref

ST

(M
(¥1)

(M
(¥1)

(M
(%)

(M

(m

(¥

(T
(%)

(@)

(%)

afmef
araqef

(%) SAgpm™

SATATRTIT
SATATR TN
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SET -1l
LANGUAGE CONVENTION
GRAMMAR & USAGE

Fill in the blanks by choosing correct option.

Q1. They play golf on Sunday.
(@)  Shall (c) Has
(b)  Will (d) Was
Fill in the blanks by choosing correct article.
Q2. Delhiis capital of India.
(@ An (c) The
(b) A (d) One
Fill in the blanks by choosing correct preposition.
Q3. Ram got out the car.
(a) Off (c) To
(b) Of (d) From
Fill in the blank with correct modal.
Q4. We help the needy people.
(@) Oughtto (c) Would
(b)  Could (d)  Should
Q5. Change the gender of ‘Lion’.
(@) Lions (c) Lion
(b)  Lionee (d)  Lioness

Choose the correct passive voice of the following sentence:-

Q6. The gardener waters the plants.
(@)  The plants were watered by the gardener.
(b)  The plants are watered by the gardener.
(c) The plants shall be watered by the gardener.
(d)  The plants have been watered by the gardener.

Q7. Choose the lll form of the verb ‘Buy’.
(@) Buy (c) Bought
(b)  Being (d)  Brought

Choose the pronoun from the sentence.

Q8. Children do their homework.
(@)  Their (c) Do
(b)  Children (d)  Homework
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CONTEXTUAL VOCABULARY
Choose the closest meaning for underlined phrase.

Q9. Please put away your things.

(@)  Putdown. (c) Keep

(b)  Throw away. (d)  Send away.
Q10. What is the opposite of ‘Heavy’.

(@)  Soft (c) Easy

(b)  Light (d) Hard
Q11. We don’'t him.

(@) Now (c) No

(b)  Noon (d)  Know
Q12. Choose the plural of ‘Child’.

(@)  Childs (¢)  Children

(b)  Childner (d)  Child
Q13. Choose an adjective to describe ‘Parrot’.

(@) Green (c)  White

(b)  Pink (d)  Blue

Q14. Give the similar meaning of ‘Gliding’.
(@)  Moving roughly. (c) Moving slowly.

(b)  Moving fastly. (d)  Moving smoothly.
Q15. Rearrange the letters to make the name of a fruit.

ANOMG

(@) Among (c) Goman

(b)  Mango (d)  Omang

Use first alphabet of the given pictures and make a meaningful word. For
Eg.
L E G
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Q16.

(@) Top (c) Ton
(b) Tap (d) Tip

Read the passage and choose the correct option for the following
questions. (Q17 —24)

In the days of the Great caliph (king) Haroun-al-Rashid, there lived in
Baghdad a young man, named Abou Hassan. His father had died, leaving
him a good sum of money. This money Abou Hassan divided into two parts.
The smaller part he put away in a safe custody. The rest he spent freely in
feasting and merry making with his young friends this delightful hunting
parties and feasts were the talk of the town indeed he was one of the most
fun loving young man in the whole of Baghdad.
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Q17.

Q18.

Where did Abou-Hassan live?

(a) In Arab (c) In Bangkok
(b) In Baghdad (d) In forest

In how many parts did he divide the money?
(@) Three parts. (c) Many parts.
(b) Four parts. (d)  Two parts.

Q19. What did he do with the rest of the money?

Q20.

The Akshardham Temple is dedicated to the Hindu
Gods Lakshmi-Narayan, Shiv-Parvati, Radha-
Krishna and Sita-Ram and another 20,000 idols of
disciples, carved both inside and on the outside of
the temple walls. A 12 Minute boat ride in a cave like
introduces the visitors to the various

hall,

a) In hunting in the jungle.
b) Infeasting and merry making.
c) In dancing with friends.

(
(
(
(d) In playing gamble.

Abou Hassan was a loving young man in Baghdad.
(@) Food (c) Fun
(b)  Book (d) Dance

dimensions of Indian culture, as they existed

10,000 years ago. Life-size and life-like idols frame either side of the water
body with a pre-recorded commentary playing that explains the
significance of each setting.

Q21.

Q22.

Q23.

Q24.

The Akshardham Temple is dedicated to

(@)  Sikh Gods. (c) Hindu Gods.

(b)  Muslim Gods. (d)  Christian Gods.
A 12 minutes of ride attracts the visitors.
(@) Train (c) Car

(b)  Bus (d) Boat

Life-like and life-size idols frame either side of the
body.

(@) Human (c)  Animal

(b)  Mud (d)  Water

Find out the synonym of ‘temple’.

(@) House (c) Building

(b)  Shrine (d)  Mosque
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SECTION - B

U doh
SECTION -B
QUALITATIVE REASONING
Ry
OIS Teh

wo 25 3 o W @ fenawl anmerdt wifer =&t et &2

( 31) S H Aeh (9) qden
(W) ger (T) vy

Which of these pictures does not display periodic motion?
(@)  Pendulum of clock.

(b) Tabla
(c) Swing
(d) Fan
UyT26 O W foRdahT SURNT ohieh &0 Ueh Ak T@T aht GaITS ohl HTd ShY Hhd & 7
( 37) YR & S’ (|) =&t
(W) e Yo () SR @R Hie dar
Which of these is used to measure the length of a curve
line?
(@) Stone &thread. (b) Watch
(c) metre scale (d)  Thread & metre scale
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Y927, WUAT Ueh 1 51 W91 H Ufad g, fraes svaror e §- o o 9o,
HTAfeh e, ot de fra aa S vt § ufaa s ?

(31)  SAEEH () A ()
(W) Hfcam () HEHRY

Sapna is suffering from a deficiency disease and is shows

following symptoms such as swelling in the neck region, mental
disorder. She is suffering from the lack of:-

(@) lodine (b)  lIron
(c) Calcium (d)  Phosphorus

QUALITATIVE REASONING

Q29.
(a) (b) (c) (d)
S —>

Q30.

19 19 19 19 191 9

19 19 19 19 ?

19 19 19 =57

19 19 38

19 19
(a) 63,72 (b) 86,95
(c) 76,85 (d) 76,95
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TTE i Ugeh{ ITT ST

ST FHIHR & it 9T H vgrel W e Tere s e € | Fel W B et ogd & %y
AT H BNl T, Fifoh gt St TEH 2reit, g e R a6 A% T 9% 9 Eh1 Wl ¢ |
g &1 ShH J&1 I71 <@ ol THAAd & a2 81 i & HHlel a1ad, 718, 7, Hahl 3T g |
TERE & AR H qYH vt foweng <, S foh aga & He Sl § 1 9% eHE veret
TR TR W YT Bl © | It S b ot B 31g8[d ShivTel i off Sieta | |

Read the passage and answer the questions. (Q31 to 36)

Ladakh is a desert in the mountains in the eastern part of Jammu &
Kashmir. Very little agriculture is possible as the region does not receive
any rain & is covered with snow for a large part of the year. There are very
few trees that are grown with this region. The major crops of this region are
rice, wheat, peas, maize, etc. Kashmiri shawls seen in the market of
Ladakh are very expensive. These shawls are made from the wool that
comes from mountain goats called ‘Changra’ & small portion of goat hair is
used for making pure pashmina. The manufacturing of shawls requires
great skills

Q 31- &= | Ta | fRea §7

(&) | (@) < HHER
CHIREIE (=) feur=s

Ladakh is situated in which state?

(@) Jammu (b)  Jammu & Kashmir
(c) Punjab (d) Himachal

32- oG foRa T | YeRRT I §7?
(%) == (@) wfasH
(M  SErfEm (9) T IREE
Ladakh in Himalayas is also known as?

(@) Desert (b)  Baluchistan
(c) Cold desert (d) Hot desert

Q 33- T QX T e feREd 3T TEar § ?

(%) wEar (@) Ut

(M) 9w () B

Most of the time Ladakh is covered with what?
(@) Clouds (b)  Water

(c) Ice (d)  Storm

Q 34- IR 9 W i G g oite feamd <t &2
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(F) THHA (@) g

(M) e () =

Visiting a market in Ladakh which expensive shawl! will be usually
seen?

(@) Kashmina (b) Pashmina
(c) Meerumina (d) Hasina

Q 35- TG § UTE ST aTelt siehil ohT o T 10 2

(%) o (@) W
(M) =W () =™
Goat found in Ladakh is called by which name?
(a) Bhagra (b)  Kangra
(©) Sangra (d) Changra
Q 36- e A feRrmet Bt g w9 A et §?
() TREa (@) T
() =Ed (&) '
What is grown mainly in Ladakh?
(a) Coconut (b)  Sugarcane
(c) Rice (d) Dates
TS hl UGHT ITT ST (W9 37 | 42)

THIYAT 2000 TTe Tt U=t ufrn & SO o SvR | S8 7ie o Sgeed | e gy, i
o 9 ArETST A1 U femm an | S5 3 S ! U9 R aen favar e faaren qen
ST o ST AR H ST |1 318 81 o6 &1 SRl o T1e ol | $91 % Hid oS |
IS 9IS $HTE TReh! - STE 71 o1 W=IR 52T | et o TS ST |ia el Sl 8, 3
Tfyat T A g T 9, S fRvea e H v e

Read the passage and answer the questions. (Q37 to 42)

About 2000 years ago, Christianity emerged in West Asia. Jesus Christ
was born in Bethlehem which was part of Roman Empire. He taught
people to treat others with love and trust others, just as they themselves
wanted to be treated. The first Christian Preachers came from West Asia
within a hundred years of Christ’s death. The Christians of Kerala known

as Syrian Christians are amongst the oldest Christian communities in the
world.

Q 37- TR FoRa |9 Ueet $TE et w2
(%) 1200 99 (@) 1500 99
() 2000 T (}) 2500 I

135 Class VI Problem Solving



Christianity emerged about how many years back?

(@) 1200 Years (b) 1500 Years
(c) 2000 Years (d) 2500 Years
Q 38- HT wHiE e Uer gu?
(F) el (@) feai
() A9TRH (=) Hifen
Where was Christ born?
(@) Bethoven (b) Heetheow
(c) Bethelam (d)  Syria
Q 39- T & TATE okl fov@ 0 @ AT AT T ?
(%) TR (@) e

(M g (F) hefas
Christians of Kerala are called as?
(@) Malai (b)  Syrian
(c) Hungarian (d)  Catholic

Q 40- wifter $uTE el | 3y &2
(%) uf=EHtgim (@) afv=H stRe
(M) wferE (%) ofv=HE TR

Syrian Christians came from where?
(@) West Europe (b)  West Africa

(c) Asia (d)  WestAsia
Q 41- S fora TTUTST @ fewar an?

(%) ¥ (@) T

(m A (%) &M

Bethelam was part if which Empire?
(@) Maneya (b)  Gupta

(c) Roman (d)  Kushan
Q 42- $arE ov T Yo 39T ol Hid o fera ot o 3faT & T or?
(%) 200 9 (@) 100 @A
() 150 WA (=) 101 9
Christianity spread over how many years of Jesus death?
(@) 200 Years (b) 100 Years
(c) 150 Years (d) 101 Years
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QUANITATIVE REASONING
o1 ST Rl Ut U9 WA 43 | 46 & TG |

Read the information and answer the following questions. (Q43 to 46)

Sunita is going to her nani’s place with her mother. The details of her
journey are shown in picture.

U943, FAAT U HEHT o | A o T S T § | Ieht AT A1 SR forst o

TeTaT T
TIRF ARG FNE?
Q43. What is the distance between (A) and (C)?
(a) 250 KM (b) 110 KM
(c) 25KM (d) 360 KM

Distance = 250 km
%@ Time—

S t B Time - 5 hr. .@ 9.
unita's T
House
qyy
[n] |_| [n]
Nani's
House
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Q44.

How far is nani’s house from Sunita’s house?

W 44, ST ohT O GHAT o O W feRaeT g E?

Q45.

(a) 250 KM (b) 360 KM
(c) 385KM (d) 25KM

How much time they will spend in travelling?

Y 45, I T A | GI1 okl feha T THI TR 2

Q46.

(@) 9Hrs (b) 5SHrs
(c) 3Hrs (d)  8Hrs

What is the speed of the train?

Y9 46, S ht ATt AT Y |

(@) 50 KM/Hr (b) 25 KM/Hr
(c) 100 Km/Hr (d) 250 Km/Hr

T3 =1 Teaafa o1 sTaeiiend Y 9 47 9§ 50 Tk IW < | T arfetent Tsia gRT Jieh
forsha & @rid 77 g aTi bl SR ¢ |

Analyze the situation and answer
Q. No. 47 - 50.

[EHYAM Sastionsh]
EmE .

Following is the list of items Rajiv purchased from a book seller.

ltems (%) Rate (=1Hd) Quantity (|=T)
Notebooks =fd 15:00 10

Practical File 3 gfisht  20:00 2

Pencil Tfa@ 2:00 15

Eraser I 2:00 5

Sharpener 3IR 2:00
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47-

Q47.

Q49.

50.

Q50.

It WIIE W e A fora vud = forw ?

How much she spent on the purchase of notebooks?
(@) Rs 15 (b) Rs 25
(c) Rs 150 (d) Rs 1500

fore o Rl e | SHA e iferer s fepam ?

On which item did he spend the most?

(@) Notebook &rdt  (b) Practical file TR gi&ieht
(c) Pencil i@ (d) Eraser &R

for e it Wiien W 36 & o foran?
On which item did he spend the least?
(@) Practical file =R gftert

(b)  Pencil 9fqa

(c) Eraser I

(d)  Sharpener 3d=R

T T ¥ 36 foha T @ fepan?

What is the total amount he spent on the whole purchase?
(@) Rs 200 (b) Rs 243
(c) Rs324 (d) Rs234

YA Hiosrl BRIGH AR 7% | 36 40594 & 377¢], 30 T94 & WIS, 45 ©
% TART G 25 T & ST WIS | 3Heh 9 H Tah 100 T Tl A1, Th 500% I
T F TH 50 T T AIC o1 | I AR &l A &1 e fean g afs 34
360 & GehIGR A o1fg fohw ?

(a) 100 F &1 AR (b) 500 % 1 A

(c) 50 % AR (d) ®RAR
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Q51.

52 -

Q52.

Suman went to buy vegetables from market. She purchased
potatoes for Rs 40, onions for Rs 30, tomatoes for Rs 45
and brinjal for Rs 25. She had in her bag one 100 rupee
note, one 500 rupee note and one 50 rupee note. Which
note she might had presented to pay the bill if she got Rs
360 back from the shopkeeper.

T

(@) 100 rupee note.

(b) 500 rupee note.

(c) 50 rupee note.

(d) All the notes.

3ifeRaT = 3TU TEHTH T 3/8 W IIHER <l & Sl AT WA Rl G

foram | 3a e ot TeehTd T feRaT ST ORT femarm ?

@@ 5 (b) 4
8 8
1 d 8
(c) .t ()3

Ankita did 3/8 of her homework on Saturday and remaining
on Sunday. What part of the homework she did on Sunday?

(@ S5 (b) 4
8 8
1 d) 8
(c) = ()3
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53 | 56 et faw T TenyT i ufen Sfi W i -

Read the passage and answer Q 53 to 56.

W= et # TR T e, STeh # ISR, 99 U HaH 1 g0 oS 1 A & g
YT TR STl §, et O el & BR qeh ohi TalTs i 8 § ITAN 3d & | 2 &1
SYANT ot fohart STan & | Teh TS huST thedl &g o TR | STI1 ST Teh AT STl & | T o
SHH 1 SKIHTS THATH! L & | Bl TG & [T S o T2t o1 START TRl STl
o7 | 37 Tel |19 & o5 1790 § Bifafaat ¥ Hiet Ugfd o1 START 8 <7, <TwIrE 1 TH.
3T A HIST & | WX =T 100 SR 9T § died §, foie YerHier Fed § | At =1
10 BRI 91T H AT S 5, s foeftHie hed € | Te SR o feheiHie § 7 |

Fathom is the |ength of the
outstretched arms.

Hand span is the distarice
between the tip of the:thumb |
and the tip of the fittle finger of
“fully stretched hand Cubit is the distance betwesn
the tip of the middle finger
{outstretched) and the slbow

In older times different methods of measurements like length of foot,
breadth of finger and distance of our foot steps were used. The length of
our finger upto the elbow was used as one of the methods of
measurements in Mishra. One Gaj (1.5 Meter) cloth was measured
equivalent to arm streached upto our chin. Romans also used footsteps as
a means of measurement. For measuring smaller length finger and fist
was used. After 1790 the French used Meter as a Sl unit of measuring
length. One meter is equivalent to 100 centimeters. 1 centimeter is equal
to 10 milimeterlonger distances are measured in KM.

53 - holt g3 oE o Ueh fa< W SISt Ak WY ST STeil SohTS &2
(1) ™ (q) e

(") 1 HiX () 1 fohedHieX
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Q53. Length of out stretched arm to the chin is measured in:-

(@) 1 Gaj (b) 1 Foot
(c) 1 metre (d) 1 KM
54 - wETArEEl | HeT ggfd st T hdl ohi ?
(v) 1908 (c) 1915
) 1790 (n) 1750

Q54. When do the French discovered the metre scale for
measuring length?

(@) 1908 (b) 1915
(c) 1790 (d) 1750
55 - TieT ol feha ST 9 O aied €72
(31) 105 (&) 50
(W) 80 () 100
Q55. In how many equal parts 1 meter is divided into?
(@ 105 (b) 50
(c) 80 (d) 100
56 - HeTHeY Rl feha™ ST 9T B AT STAT & ?
(31) 12 (&) 20
(") 10 () 50
Q56. 1 centimeter is divided into how many equal parts?
(a) 12 (b) 20
(c) 10 (d) 50
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Read the passage and answer the questions. (Q57 — 60)

57 9§ 60 & foru =1 fw 7 wrermer o1 ufgu oiR S ST - 9a1 i s1ehfd fUsk & 99H
BT T 1 3T <) HEwYUl 3T, TA I BHS T ¢ | 39 TE1 g8 12 Sl v (T
Bt & 3T F 10 SISt qaferm Sufey & wred | Yiayss Hag WA 4 e Al 8181
St Tafer A § & el Wl € | T8 ok dTelt Tafera hed © | 3 Ui i g
Y TER 3H YR TSI Bl § Toh SATavaehal U8 W 3H 70 & Tohal § | 51 TG o4 |
g H a7 |

Chest has the shape of a cage. Two vital organs Heart and Lungs are kept
safe init. There are vertebrae on the backside of this cage. Twelve pairs of
ribs are attached with these vertebrae. Ten pairs of these are attached with
sternum by the cartilage on the posterior surface two pairs of ribs are not
attached with sternum, these are called floating ribs. These are attached
with muscles so that they can move when necessary for example for
breathing and coughing etc.

57 - aer H fepae T qfea & §72

() @ (|)

(") sme (D Tk

How many organs are kept inside the chest cage?
(@) Two (b)  Three

(c) Eight (d) One
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58 -

59 -

60 -

TRt U fehait Wit vaferan JEt et €2
(1) e (/) 7SSt
(®) 10SE (3 12wE

How many pairs of ribs are attached with vertebrae?

(@) 2 Pairs (b) 7 Pairs
(c) 10 Pairs (d) 12 Pair
= | g arell fehaet vaferat et §2
(1) 10 () 20

(") 30 (T 15
Ribs attached to sternum are:-

(@) 10 (b) 20

(c) 30 d) 15

A et gEferat ferda=t et gt &2

(1) 4~ () 8t
(W) 2wl (2) 3 el
How many floating ribs are there?

(@) 4 Pairs (b) 8 Pairs
(c) 2 Pairs (d) 3 Pairs
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WIS

I Hehd
1. kC] 2. < 3 ke)
4. ) 5. 6 T
7. ) 8. ki 9. kC|
10. ) 11. Kl 12. £
13. kil 14. £ 15. kC]
16. kc| 17. Rl 18. <
19. o 20. ) 21. £
22. kC| 23. h 24. kC|
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SET-3
ANSWER KEYS
LANGUAGE CONVENTIONS

SECTION - A
Shall 2. (c) The
Off 4. (d)  Should
Lioness 6. (b)
Bought 8. (@)  Their
Keep 10. (b) Light
Know 12. (c) Children
Green 14.  (d)  Moving smoothly
Mango 16. (d) Tip
18. (d)
20. (c)
22. (d)
24,  (b)
SECTION - B
QUALITATIVE REASONING
26. (d)
28. (c¢)
30. (d)
32. (c)
34. (b)
36. (c)
38. (¢)
40. (d)
42. (b)
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SECTION-C
QUANTITATIVE REASONING

44. (c)
46. (a)
48. (a)
50. (d)
52. (a)
54. (c¢)
56. (c)
58. (d)
60. (c)
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